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OMR TEa2[@2e 7[5 19 SM9ICS IR 5 (2 e7a (@ ol s{fSF1T 1-80 C1 el 71 TN SRR 2ol 02
TitE % Wi*ce F=7 FAIf @ OMR TE#19ee (7961 (D€A@ | (@Il 4391 i Aifeeet sowale Rrsas
TS FE ARG FeA FF K |

Qg foriaat

« 9[31 9:00 IWF TS ePFIFOL #[rH FFo T4 |

+ OMR Teeo[@a T JQLBre et/ a9 (AT 9% Teas! Hize 419 wisice 2Hist A4 #ifp
FNGF, P AT ATSTH! 27 To1 TG A W< GHTolF W14 g Tea Fiivet w414 A (Reh o1 ver
Ffet ste 91 2°9) AeigE 799 A= == fSce go 2 A wa I wfofae @It OMR Tes#iaq el
TR | &AfSTH! 1 THT 2! &I T T&q IS AT 0.25 AN THT <o ATSTH! 2779 24! 2 T Ted AT
A 0.5 A6 799 AR

+  Non-Standard OMR T€37[@ 9291 CFa® AT WO (SETEAFH (e 751, LHFIFOT FhiT
T, LFIFET T8 OMR TE71aa ffr e Jize F'a Fia Aifaa <iw T 79t =1<: #I1eg 2re «bt e ren
W9 FRAT6F #1R OMR Tgaoig2w FdFeira 53¢ {73 wifa | S=yAt OMRTGI7[aa Jeize it 7124 |

TR S T TAfERS/ @ie 2iae 13 e F1 i, SRR (SIS AT S
2%° I TS B9 ST OMR TSI Wi eiFe<e Harwas ol i 7owe | (i A
OMR T&a7i@ @ e%isig Tl friq sTee T BoRAT T 9951, (SERE (DL SoifFe I [
79|

« AR e il [ 313e (SEERT ([IE T R Bl il |

A [Rve @A T AT erwmee TR W FME ehieeed 7T 79906t OMR Teaoaq Fire Jize
foral 27 | TwizAerTCA, eMiFiTed $°T 270 T ANTS, AT 24 T4 LEPFET F'C ‘A’ 2fFCET OMR
Teoiaq S Iize A Tk aife o< [iwe 38 A Gt ' s anfa= |

AL FFCA! 41991 LTS 54 (rough) PN iAo Tl SISz SR #A1fR7 | 2 _RIICE <641 (rough)
N TGIATG T (I 4790 Fl9Er FA (IR | TeI9{@qe Tt @ 2541 (rough) T 21 HRISICH (S Sl
390 R IR I(E, (STOAZ T (O &[G TeTR 31 724 |

. SR I AHIS (HITA 43007 ot Aifieet wizat I o SRl 0 A AFIAGIER oFe
wg i ol F41 29|

SIS Bl 4 SRS (@I AR AT O TR SRt i w29

¢« IRFRTPREE SR T/ Mg A (@ (RIS (P, (FeFCang 1 (I €769 ([@yfess AN
A GETT I8 ATTHITHCA TS TS i =@ | qW G AR T T ST FE | ST
T ]| SR WPER Gkl F0F, (9% (9€F Sy o1 Reas 71 23|
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OMR T&a71@fb 53¢t FFA1 F AL T2 %6 208 2@ (@ 2iofta 1-80 21T 3% 7piafe] @ipiia
(e 200z 3% 50 F00 203 (T OMR TER9@D (e O G | (T 21 TS LRt SReTCy W =i
RSS TR ARG WeT P (0 |

« e 9:00 THH ATE eief@ #Fw FHCS Y |

+  OMRTEItad T[T JE6Te Aet/FITEN IACAD (21 [ W e’ Bie Faaia otd 2 e 2w
T, F1ae elawe 2ifS et oo e (Mea T @R arFd i g Ter v waia oy (Tafb ge
TER (e A F FA) AANE T A G3R FaSre TH A ql wd FAIE G (@Il Sfofae OMR
Te9lq ST A | 1797 AF &lfo 23 T&1 Teq (SR Ty 0.25 A SIS 799 G3R 2 799 A aifefld
AT TF1 ©ed (MSTIE T 0.5 AN 799 AFCA |

Non-Standard OMRT&27iq IIRTAA (@ 2RI A SRR SITia (Aet 154, 21| [Tl i =194, 2io)fEaia
et OMR Teaeitad fffS ZITa FITeT 900 T R ANGR P € (AL 2D @3 et @ar
ARATFI5F o102 OMR Tea+iafs AFeIta 5j7e Fare A | A OMR T@R2[Tad Jeliaw F1 203 1 |

« oRweE FArwE (rea TS/ @IF #ita TR e FACe 204, AL S 2R FTCT S A
TR T @R TSR OMR TEaoig @R eroi@ N ol (redid s | (Il A9 OMR
TEA7[q 3R 2P[d Tl (RS I AW 70 [ FHE o1 IR, SIRCH OIS 2IfFe A0e 9l 1 203 |

ATFIFTE it e WS B Aifisem Siom @iet T99 S92 Tere 21|

T ffeoe 2o Tive TS erivitar THT @R AT eisitad (e TR OMR Teasitad 7S Bt
(o1 2 | TWIRRACTRol, 2IPITaA (G 50 FA1F A, A AR NS 2heloitad (Fie ‘A’ AiFe1 OMR Tea71tad
ffre =i A forate =1 @3 72 3e A 6 FiteT Fate =31

v ST e LA TG AT (rough) IS 290G (ST BT FACS AR | 2L 297G (rough) et
OMR TG Al O (I 4R FI9NE FACS AR 1t | T AT @2 43701 (rough) 1S OMR TER10a
A 1AM 1 IR T, OF (312 OMR TECE= SR 11 =0 1 |

AT LTS A AHACS (T LA ST 2 WL QAR Syt 20 SAE AHADIR oiF© W e
Ao 1 AN

AFT! ST (I ATTHLNE ATTHIEH Sfiof FAF Sy (rewl A 1 |
o TR 2 25/ FCF I R AT (T (IRIZE (I, FIEFCE0F G- (P! @fess amiees i

wiolfea A 295 T2 FAIF SIS (el @ A1 | AL T @I SPIR TR S[eTE F00 (1l
I A S M G SRS ATHIR TR Geik S IR, O SITR Sl (el 1 203 |
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OMR ftr=t feretTs@t 31el wremera fam=r, famforan st wremafer g, 1-80 fam midst faemgwr
Hiter ferstrarea Wi Yerat-ma § 3 OMR fif= faremgan maft arare’ o sSrumEist wramafer e |
UTETHER S -o S WHTsAT Tifer forstreat Wremamr gt orare ArfeiieEt aremr fafemn

T faen=
o i 9:00 Famf e Hityr foemgat mwie @eraTe @aet AT |
« OMR fir faemet gramma sEaE e/ seug< swoms o e fam geratt farst
TIfoREr WSS WA @R, AT AforEre: mewemet ittt mafer et arama e deat
Fifae for A [t arEr (SR, Rt fR THEEE S ) S T O IR At
TR~ SATHAT TS T8 AT AT TG Wial ST (R feTs SFTa SH™ ST | JiF%id 1 81

o Wit MAfeer frratT 9rET 0.25 TFRE’ AR TR HIMWhIN 2 Tl o |t maer fte
BT ARG 0.5 TG’ T AT |

« Non-Standard OMR Tt fareTrg et fafereTta fasnforar e maft W@ T, ity faemef wift
., Gifyr faemsf swewEr OMR fFa faemsf Sramma srermare e @rerET @ e fafaft
facTzama o SAfusmafT faezare dFa wiEt 3Rl foam (smfmr) faem 9y g wremEt
M| TSTsAT OMR R feremgEt e emTs ST -1 |

o faTamRT @as afEg 2 T | Ged THSIE QU BEHT e Td SR St s fosmme
faremg 3t OMR fitre fargt e Ta | OMR TR forems T wifr faemsst emamma T fasmfern

E%QSTF@W fora SIS STARGHMA AT THEA™ ST |

o ity farargame SME R S fasirn T@r et o Trr@! T mie |

« ity faemst Tw=r mr ity faenef s =@t OMR fRa faemsf Sremm s faamat
R fersferar e s e fafefer aifed, wita faemst @ e @ e |ure feeter
T Gityr faemstt s ‘A SEiser OMR iR feemsf gramma saemare ‘A faer =i e
AW SE= ‘A T ET A=y i |

o foenfermr migst IEmf T SR WA TRAPAR (rough) @M@ Qi faemst Sramm srermerers
WA A | fsforerT @reren aeFArEe "l i faere wen fafe 1em hmft o foegama
WA B €T TR feemsare o Qe TRFARE™ (rough) @rETfRaT farsifern wrerisen T foret
ferfa (overwriting) BTEATHISAT T TTHL TMeRAT (whitener) OMR TR feremzamar wiHIsen & OMR fiFe faremsat
AR S ST |

o Wity foemet fos Tan wWHEAEe el TR ATEeAr T Ji H-rre a1 Siarsel g
TS RIATEATT Wi faemg@i=T s S THIEET S S |
o AR WfAEaR AR FHrE Toa fosferg! sTsmerfe MR i TR SR ST 727 |

o STFSTEIIfE/aTaTe FRa forsTersRT e M= gar sk el %, shetgheler e fafe @i AR seishefTeh
a1 sTeree faf fasmferdt <F 2Fm S |
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OMR ST-T=eh ol WA | Uget wdrgnelt org gffyea ot o fon wo-gfqant # 1-80 a0k |eft U8 shargar
Hfea ¥ a0 7% off gifyem ot of foh OMR STR-Uoeh shaet S & Haitea &1 fepdt oft fammfa ot fearfar
H O WoT-YRaeRT sIger ¥ dehtel f-RTeeR sl gierd il

TTd: 9:00 &S W Ut -kl W U9T-Yfdaht 1 &t |

OMR 3TR-Useh o SUIh oI« W T& 3T I e/ et sier-wge 9= A fafted & @ ud, @it uot
I SATYdSh UG &, ShIRUT YIUA: Teld S 3 Teh & W9 & Ueh § S1fueh faehed & =& &9 W
(518 1T 3T UHT ST ) TehRTeeh 3ieh Rl WA & 31 fgetaa: fondt oft were et TTerdt srerem
HuR & fog stfafs OMR ST-usak & fear ST@m) u&iek 1 3feh ol U9 o a3 WX 0.25
TR 31k 3T Yk 2 3ieh a1l W9 o TTeTd ST WX 0.5 TehRTeeh 3ieh € |

R-UTeh OMR STR-USeh oh S8R o HIel W, THenell i tHarid: 31uaT et o), Yy--Yiaent
ATk, UIT-YRAehT Shis OMR ST-UAeh § fGU T T ® BTHifehd ST G Gl Ueh JUIHTET 3{
HEATE ®Y OMR ST-UFF o 3TNl 3T We st U o foamm A1 3r=gem OMR SXR-USeh <Rl
IR el TehaT ST |

Tttt st Fiteren grn <t 18 SufterfaRiet vite Tal oY gtateld shid giil, Uit 9IR STel uemeff udien-
Fe B O W W I3 WY qe, T THA IR FRIersh bl JeA-fdeht a1 OMR STR-95% Fid- & T3 |
3R foheft wiemefl 7 OMR STR-Tah a2 WeA-YRdeht Tiad THT TEA&R T U, T 39 STdfkerd |1 STa |

FeA-giegent H fafde T W qdeneft o719 e FoR @es &9 | o |

Tignelt @E gityea &Y o foh 3Teh gRT foret it u9eT-Ufaaent SE&AT ar | Uy-URaent i€ OMR
IA-UFh U Hel &1 ST WEY, UYT-YRAHT RIS hi WA T, TG TLremelt i U9-URaeht shis
‘A TS, 9 OMR 3TR-U=eh H QU 1T aiferd § ‘A’ ToT@T 8T 9T OMR STR-Ueh | ‘A’ Shi STEIThd el
M

Tdemefl Wt O 1 TF (rough) T TEA-TRaeRT H ST T T T X Fohil | T 1 OMR STR-T5 A1 37
forelt TRE o TSl W T2 B Wehil | Al FIg TH 1 AT AT OMR STR-T5h TR fohaln 721 =1 foistah
1 JA fohal 71, A OMR STR-T5Ieh 1 Heih el TRl ST |

Yyl o HIEAH/EERIOT | ferdt ot faamfa ar um ot fearfa ®§ 31U SEntor & 1= arm |
T &% SRE fREt oft qdenelf =1 wien e Sred w5t eufa T& ¥

Ff g wtameft Tt iRt ST U U S © 27t Ufasifi Sl Tl S Hieed W, Shegere] a1
et ™ 1 Agfas Al Steren st a5 onfe, faent wien eict/wet § s1ufa T €, @ 39 s
HIAT ST |
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1.  Siachen in Ladakh is an example of :

(A) Cold desert (B) Glacier (C) Plateau (D) Snow mountain
1. =GE HACH (FFER 9F Trizad 2

(A) TeTwegh () fomi (©) eTgf (D) QARIS 12
1. =Widd o Snizael =1 ¢

(A) delwref () fEER (©) Tl (D) wam 7S
1. o fages 9md 1 fafafer

(A) g dTel g (B) W Tl (C) <A (D) X% STSHT
1. e ¥ feeq faafem s seem e e

(A) e EH (B) feme (C) TSR (D) WHid TaTS
2. 16% of (16 +16)2 is :

16 x 16

(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2. (16416 560 a3

16 X 16

(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2. (16416 g 169, 2

16 x 16

(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2. (16 +16)° f5 160, ) g -

16 x 16

(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2. (16+16) 60, Tmm E

16 x 16

(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
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3.  Which state is the official sponsor of Hockey team of India ?
(A) Punjab (B) Odisha (C) Haryana (D) Uttar Pradesh

3. (T AT OO T WO b FHCANTE ?
(A) #ig (B) TR (C) =i (D) T el

3. (I AG) OIFCSA 2T TR TR AR 2

(A) #ligR (B) sfe* (C) =i (D) TR el

3. YRA g'fR S SRER Hee BT TSIl od 2

(A) T~TE (B) 3fem (C) @ (D) I YW

3.  YRd I Bkl I I SMTUHIE YrESTH hIH-H1 ToF & ?
(A) USIE (B) 3iifesnm (C) =famm (D) W YW

4. How many times has Brazil won the Football World Cup ?
(A) Three (B) Five (C) Four (D) Seven

4. TI7l P& (LT QIS i I GReTe 0T 2
(A) fofae (B) sifoal™ (C) wifaR (D) AR

4. ifee 17 FoIcETR eFiol fecorg 2
(A) fo (B) Mo ©) o= (D) e

4. SIS JEEAT Feae HIIE GO @I el ?

(A) &9 (B) @A Q) w9 (D) @ fH

4. oS A Fedta fova #u fhat ar S g2

(A) = (B) = (C) = (D) ®@
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Which of the following countries does not exist presently ?

(A) Switzerland (B) Czechoslovakia (C) Germany (D) Poland

fsfefe @ R oW TS Sy 71 ¢

(A) pEEIRCETS (B) GFwiteRm  (C) W (D)  (olteTss
TR (@ OiGa TENN g (712 2

(A) RS (B) GEERT  (C) wif (D)  (olfeTres
MR o« BIeq STfehTaa fean ?

(A) HEERAITS (B) <&'wi'aifRa  (C) S (D) ToE

frefafed § @S- <9 adam 8§ o1faa § T8 § 2
(A) fasee (B) <drdEnRAl  (C) SHA (D) drRie

<

Who amongst the following has been awarded the Gyanpith Award in 2024 ?
(A) Gulzar (B) Arup Kumar Dutta (C) Ratan Thiyem (D) NilamaniPhukan

ARFTRe @F T 2024 I© A1 I61 2AXi 91 20T ?
(A) TSR (B) S@eiFRwe  (C) Fo = (D) eI T

R TEafem@ M & 2024 A QNN TR SRS 2@ 2
(A) ST (B) SRAFIIWE  (C) e RN (D) TwTsIf

2024 HEAEM JAGS SFrEl GR 981 S Se) ?
(A) TENIR (B) &Y FAR A (C) T faam (D) THa'sf gerA

o o

frefafed # @ fFd 2024 % IS TR F TrATA e T 7 2

(A) TSR (B) &Y FAN A (C) A faam (D) fremfor Fera
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A person moves from P to Q in a semi-circular path and then comes back to P by the shortest route,
which is 4 km. The total path covered by the person in the entire journey is :

(A) @r+2)km  (B) (w+4)km  (C) (m+2) km (D) (2w+2) km

GG 02 P 3 %191 Q (61 A el w12 SIfeds (3 S ©fF foiwe 4 6.1l O 23w #[t20d 771 P (1 97
B2 | S Sfos 41 %1209 9 O (20 8

(A) @r+2) &R B) Er+4y R Q) @+ BR (D) @r+2) B

G e G TLFEFF #I72 P (AF Q T G STe277 Joosl 212, (A6l 4 .6, SR I P-(©
CFES | %[0 @R e =Rl Sfo@=e T GG 2 27 ¢

(A) @r+2) &R B) Er+y R Q) @@+ BR (D) @r+2) B

Y HHE WesEAR @M aFH P Awm Q faq aemeriet s safwgs e o, 4 fe.fa., si pfam
i | & e T S8 e ?

(A) @r+2)f®fm B @Er+4 T (© @+2f®ME (D) @r+2) &M

e Ao AHGRR 79 H PH Q Tk ST © 3R FF Tod B1e AFf ¥ P W 99« o711 8, 5 4 TR 81 9@
7 H Afd gr a9 fohan T o TE

(A) @n+2) f®&d#. B) QEr+4)fEd. (© @@E+2fE#. D) @w+2) w5

Which of the following is an award exclusively for music industry ?
(A) The Oscars (B) Emmy Awards (C) GoldenGlobe (D) Grammy Awards

e @R 7)9Te TWeE «F Sigsia o1 2
(A) OIHR (B) «fi @Sy Q) CaNTT (2 (D) (ol @ Iy

TI5d (@D [ e e 3 sawi 2

(A) SER (B) @ 7= (C)  (aNTTH (2l (D) anfl 5=
TEEMN o6 S S-S SIfHAsial’ 9H<l € 2

(A) IT=RRE (B) TfH warew (C) TTeed T (D) UfH warEw
frfafed § @ ®F-91 R favm &9 @ g e & fae 2

(A) 3TERT (B) THI JT&hR (C) Tiieed Teld (D) T+ GTEhR

Mark the correct word as synonym of “affluent”.
(A) Meeting (B) Discussion (C) Wealthy (D) Poverty
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10. The Padmanabhaswami Temple is in which city ?
(A) Bengaluru (B) Chennai (C) Madurai (D) Thiruvananthapuram
10. (LT TS ANASHT WHg SFS 2
(A) (@R (B) (oHiZ (C) IR (D) fR==wgo
10. ARSI N (Pl *1E SRE 2
(A) TECETE (B) (bR (C) =R (D) fowamesa™
10.  TEATHEETH Af<y ofel qE g ?
(A) e (B) =T (C) wgE (D) faea =gz
10. TEAEET HiS e W H ¥ 2
(A) ST (B) © = (D) forertages
11. What should correctly replace @ in the grid ?
13 | 450 | 30
21 @ 8
32 | 782 | 23
(A) 196 (B) 184 (C) 214 (D) 658
11. fawe o @ ozl fog afegiv sfa ¢
13 | 450 | 30
21 @ 8
32 782 23
(A) 196 (B) 184 (C) 214 (D) 658
11. RITR @ B (@G AdFeiE afegife == ¢
13 | 450 | 30
21 @ 8
32 782 23
(A) 196 (B) 184 (C) 214 (D) 658
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11. @B ¥ IR Wig! 8FH ?
13 450 30
21 @ 8
32 782 23
(A) 196 (B) 184 (C) 214 (D) 658
11. U ¥ @ 1 W& alich | =1 sfeer =fey ?
13 | 450 | 30
21 @ 8
32 | 782 | 23
(A) 196 (B) 184 (C) 214 (D) 658
12. A six-faced die is made in such a way that the sum of the dots on the opposite faces are always
equal. Which of the following pairs is not opposite facing pair of the die ?
(A) 1,4 (B) 2,5 ) 1,6 (D) 3,4
12. @& A ol @ fbw g aemics ot Tics 2ifs [ReiSts 151 fima 379 isreet smiz omiw | fsffis
(I @R TR w7l [eide fo1foe 7% 2
(A) 1,4 (B) 2,5 Q) 1,6 (D) 3,4
12. 30 L Sl GNTSIE (oF1 1 27 0o [oFTe YR [T (QI9ea AT ol 21 |1 1A
(SNTIT G2 27 2R [eie celel 71 2
(A) 1,4 (B) 2,5 Q) 1,6 (D) 3,4
12. 3 HRE T SEE SNETS SRE] Serd o e Ararh faermR SeerTea Sl 96 | TeEf
oo SRHT o YA 3ol S Al ST ?
(A) 1,4 (B) 2,5 ) 1,6 (D) 3,4
12. T D¢ GO I 39 YR S Sl © fob fauia werent W foigaii o6t am gien ser war §1 frfafaa

Y -1 el 39 T w1 feradia Sirgn 7@t &2
(A) 1,4 (B) 2,5 ) 1,6 (D) 3,4
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13. Kalbelia is a folk dance form of which region of India ?
(A) Kumaon region (B) Chota Nagpur region
(C) Konkan region (D) Thar desert region
13. AR SO (T TS (SO 9l ?
(A) TG ST (B)  (RGHIaI=E SI%ea
(C) (I TgeeT (D) 2 Rl Srees]
13. IR CRCSH (T L GF(6 o) ?
(A) PR S=ee (B)  (RID NI= S=ee
(C) <7 S%A (D) o REgh S%ea
13.  HIATTA YRAH o AFHAN e HHMER ?
(A) FHRA AFHEA (B) BT ARTY HHI
(C) hepd SHE (D) R STl B SAEe
13. HIcreIferan YRd o fha & &1 TR 1 Tt © 2
(A) FEE & (B) ST AT &=
(C) hikYT & (D) ORI &
14. A metal sphere of radius 24 cm is cut into 8 equal pieces and one piece is melted in the form of a
sphere. The radius of the new sphere is :
(A) 12 cm (B) 8cm (€) 15 cm (D) 10 cm
14. 24 (5 IPIRT GBI TN (oerEs FI T 8 ©lot T T BR: TN AI9F 7T IF (9T SAFFo®
A (AR T | T (SNEFCER TAG 2 ¢
(A) 12 f (B) 8 @™ (C) 15 M (D) 10 G
14. 24 CLR. PSR @3 4red @iEsE 8 B T ol T T W @R GFH TRENT (T I
ST T | T (oNeTFToa P = ¢
A) 12 @i (B) 8 @fil. € 15 @ (D) 10 @i
14. 9 24 9.f. 9'EE M AIgH SERE! T 8 Wik STRREE S | o A wkrat stafa g geR
Y TA™ S | o MeM U 9 @l s&ei ?
(A) 129fm (B) su.fm. (C) 159fm (D) 10 &.fA
14. 24 9.7 5 91 TH 91g o T 1 8 IR ThHS B I Sl § 3R Tk THS 1 el 6 &9 frsrerrn

ST & 1 T e o e R
(A) 12 9. (B) 8 Q.. (C) 15 9. (D) 10 &4
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15.

15.

15.

15.

15.

Which present region of India did King Lalitaditya (Muktapida) have his empire in ?
(A) Northeast India (B) Kashmir region
(C) The Kutch area (D) The Deccan region

TET TSI (i S2eeTe Jeit FAferoifirey (&) I 7oy =Nifes
(A) TeIsReFe  (B) N S (C) TR (D) wifEpeey Sees

TS SRCSA (T TeCe A FAferoifncerd (Jfoml) Aoy foet 2
(A) Teg-sfeme  (B) MR SIeE (C) FoRoE (D) wifEpeey Seea

s Afcraifee (Faamaer) 1 amaEsien forara YRa o« SHder ?
(A) H-9FST ¥Rd (B) &RUR A (C) o9 dndd (D) Sdd SFE

ST Afrdiiee (HHTdIE) 1 HHST YRA o fohd oA &3 § o1 ?
(A) AR 9Rd (B) HEHR & Q) F=3 & (D) TR &

16.

16.

16.

16.

16.

The least natural number which when divided by 2 gives remainder 1, when divided by 3 gives
remainder 2 and when divided by 4 gives remainder 3, is :

(A) 23 (B) 17 (C) 31 (D) 11

2 (3 239 BRCE 1 S9N 2117 #1901, 3 (F 23 IR QI 2 9A17 7170 SN 4 (F 2990 IR SOl 3 2117 #1<1
TR Pos FSIR ALAICE! (20 2

(A) 23 (B) 17 (C) 31 (D) 11

T TR A AT 2 TR Slol TG SRS 1 ACE, 3 G o} T SRS 2 AT 32 4 J ©lol
FACE TRRE 3 AF @I 24 ¢

(A) 23 (B) 17 (C) 31 (D) 11

e i smfem S 2 S Tee 1 a9/, 3 S THeel 2 TEral 9l 3IRI 4 S sl 3
@R 9=, o STAfSTEET Sy

(A) 23 (B) 17 (C) 31 (D) 11

TE <[AqH TR Ge 94 2 § fawifed s W Ausa 1, 3 § fawifed w1 0 9wd 2 3R 4 9 faafsa
H T ATES 3 I A1, TR

(A) 23 (B) 17 (C) 31 (D) 11
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17. On which island hillock is the Umananda Temple situated ?
(A) Bhasmachal (B) Sandhyachal (C) Nilachal (D) Chitrachal
17. e Turaiel e Suaw afve skige ¢
(A) e (B) TRIbeT (C) e (D) foare
17. @ B o Tuem wive skige 2
(A) e (B) TIbeT (C) e (D) foare
17. M= Ai=<q = fou greil-forerme <2
(A) HEHTEA (B) wEITIA ©) EEIEG (D) EFIE
17. 3SAmg A ford Teret ga R feem §2
(A) 9= (B) HeAT=d (C) rar=a O REEES
18. A sector of angle 30° is cut out from a circular disc of radius 6 cm. The area of the cut sector in cm?

18.

18.

18.

18.

units is :

(A) 3 (B) 4w (C) b5 (D) 6

6 GBS TPIET GF J&1 21 30° (Fiet AT 5t Fede T Tivea 21| JedeBR cFawa Gk 950
g9 ¢

(A) 3 (B) 4w (C) b5 (D) 6

6 (1.5 IR 96 JEFIR BIFRS (AT 30° @I <36 &1 I W | (&0 (a1l Jeal o Fifer @1.f1.2
G(F T ¢

(A) 3 (B) 4w (€) b5 (D) 6

6 9.1, T'@ma T GRE S oRfE R 300 @ 1 AT A EEl 7R S | ERE SEE S
it 9.f4.2 wrfeare S ¢

(A) 3w (B) 4w (©) 5w (D) 6m

6 U1, o2 aTeh U TR feth ¥ 30° vl 1 U Beums wer 9 g1 we gu s # aand
VM2 gPRA AT :
(A) 3w (B) 4w (©) 5w (D) 6m

Paper-IVIE 14



19. The addition of two binary numbers 11 and 10, when represented in binary system is :
(A) 101 (B) 110 (C) o010 (D) 111
19. @S 2olRT 9ol A 11 B 10 I (oIee] Bo elleTe o] R 2Ald AT ¢
(A) 101 (B) 110 (C) o010 (D) 111
19. 9 Bl e 11 @3k 10 93 @9 fafsis simfors o e 203 ¢
(A) 101 (B) 110 (C) o010 (D) 111
19. HFT AN SRS 11 3R 10 7 Imeméal SR SHfsHeEE ®idd |
(A) 101 (B) 110 (C) o010 (D) 111
19. < fgemar densii 11 3R 10 %1 A, St fgenerd yoneft # <t st €, @ & @
(A) 101 (B) 110 (C) o010 (D) 111
20. Which word would you replace for the underlined word to reverse the meaning of the

sentence ?
“Food in this hotel is worse than that provided at our hostel.”
(A) good (B) Dbetter (C) Dest (D) excellent

21.

21.

21.

21.

21.

Grandmother was cooking at a picnic, attended by her son and daughter-in-law, with their four
sons and their wives and one son and two daughters to each of the sons. How many ladies were
there at the picnic ?

(A) 8 (B) 12 (C) 14 (D) 10

QIRF! BTS2 IeCeere AR WfesT | ICeEore bifss e SATO1RIF R @ W 577y, e e 2{iE
CTS (SSTHRR BIfReH 2@ o< 5ifs@q efer@ @omia 5@ iRk FEid Gl | SIS JI0o
EIESISSIRERIRACI PSR

(A) 8 (B) 12 (C) 14 (D) 10

OB ITCSICS S I FARCE | ©1 5q 93K 2@ IR 5F (ZF € O G e Tt fagem @3
ACOIP (R G0 FC (0 @R 9f0 @ (IR 57 | I0eice doe qfzel R 2
(A) 8 (B) 12 C) 14 (D) 10

3Te GG ST A@R 3 sterEre faeit fmamen ) foemsis dmd fodrif o o fraemsr =
forgrf fafemr 3T SrnHsl TRaTeT R freTe 9 ST freTsi 9 thel | o Ser@R SiEm ST 91
oY fE~TahR €gM ?

(A) 8 (B) 12 (C) 14 (D) 10

Tt T Tuehfen I @ o @ o, TSt SRt set SiR oIy, ST ORS¢ iR Skt uferar 3iR ST U
o 1 Teh o] 31X 1 dfeai snfiet off | fuerfer # foramt Afgemd of ?
(A) 8 (B) 12 © 14 (D) 10
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22.  Sagor Dekhisa, a collection of Assamese poems was written by :
(A) Devakanta Barua (B) Navakanta Barua
(C) Banikanta Kakati (D) Rajanikanta Bordoloi

22, S (FRY NINK ST S FAEE! (P ot 2

(A) (T 374l (B) I I

Q) AT FIFfo (D) FCIPE IS
22, A (AT 46 SR SRR FZwow, oTCdre ¢

(A)  (RIGIFE (B) I

Q) AT Tl (D) TG IS I
22. PR IRgq] SEHA G foseal IR foame ?

(A) SohI TEe (B) TohI a%al

(C) afehT= TR 'fa (D) TSR aRael
22. QPR Sfaqr ek stafgen wiaasti w1 Hue feas gr forar mar o ?

(A) SO SR (B) orid s

(C) SITteRid ShTehdl (D) TSI SIS

23.  Simplify : \/51 + 134 + 542 + V16 + O
(A) 15 (B) 12 C) 8

23. ng\/51+\/134+5\/42+\/ﬁ+\/§
(A) 15 (B) 12 C) 8

23. W@S\/S1+\/134+5\/42+m+\/§
(A) 15 (B) 12 C) 8

23. \/51+\/134+5\/42+\/E+\@ G TR T
(A) 15 B) 12 ©) 8

23. WA : \/51+\/134+5\/42+\/E+\@
(A) 15 (B) 12 Q) 8
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24. Consider the five numbers given here :
d) 736 i) 269 (i) 958 iv) 219 v) 793
Arrange the digits of each number in descending order. What would be the difference between
the highest number and the lowest one ?
(A) 222 (B) 716 (C) 618 (D) 12
24. eWMG MDD TR (AR 2
d) 736 @) 269 (i) 958 iv) 219 (v) 793
fSCH! AL BT (PLH] TGS AN 212 (D> Wi FAAH FLIFEDIN Trerat wfiefea 3 5 27 2
(A) 222 (B) 716 (C) 618 (D) 12
24. G &G AH AT 7 ¢
i 736 i) 269 (i) 958 iv) 219 (v) 793
TSI AR STFRCS ST AIGH | b ARL| G TR T 70y #4127 F =03 2
(A) 222 (B) 716 (C) 618 (D) 12
24. AR HEE SHASHRRE! TSR
i 736 i) 269 (i) 958 iv) 219 (v) 793
AHBEe S fTaeRE! gEe-E wikad 9 | e R gefas s fee wRefern
a9 ?
(A) 222 (B) 716 (C) 618 (D) 12
24. f&3 wTq e Hemet W faEr i
i 736 d) 269 (i) 958 iv) 219 (v) 793
I HEAT & 3Thi bl SI2d A H AAd i | Hod o< 31X ol DI H .1 T B 2
(A) 222 (B) 716 (C) 618 (D) 12
25.  Which of the following travellers had visited Kamrupa Kingdom ?
(A) Fa Hien (B) Hiuen Tsang  (C) Al Biruni (D) Marco Polo
25. TR (@ AR 2fREres FiNe ey o SR ¢
(A)  wifeam (B) 2Ttz bik (C) IeERAT (D) S M
25. TR GRS (@ #IRaies Fiehel Aey #Re ST 2
(A) w-ferw (B) feSE-le Q) SF-EF (D) SR CoiieeT
25. TERIE B el HY SEEETRE ey TFsiiete s HaHe ?
(A) e (B) Tesw =i (C) T ot (D) Wl dral
25. frafafead § § fra anft 3 wmey g w1 S e o2

(A)  HRIM (B) & M (C) 3T &l (D) e drell
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26. The primary raw material used by the Assam Bio Refinery Private Limited is :
(A) Bamboo (B) Water Hyacinth
(C) Sugarcane waste (D) Banana plants
26. SO (&K (AL ARCSE BRGTe age AL (&She 26 ¢
(A) 3z (B) A GICTI (C) IRTW@EA (D) TR
26. SPT (S CHIEAISIE 2liR0eh BIRIGT ur Akl Idge AR F6E 2@ ¢
(A) (B) IpfRoAl (C) =M= ey (D) F= iz
26. a9’ RepEAR 9. fafgesre seresmn s e garn -
(A) & (B) Gfeam (C) TR GA (D)  enfer for
26. A 9 Rt Ureoe fafiee gr1 Swin fohan S aren mreifies sheat A1d ©
(A) =g (B) Stersht (C) T T e (D) el & WY
27. Apart from Jaipur, which was the home ground of Rajasthan Royals during IPL 2023 ?
(A) Guwahati (B) Dharamshala (C) Bhubaneshwar (D) Panaji
27.  SRfEGe 2023 T TRICRAS IEZ AR T4l (AT G2 MRS O (Flv<e onifeeT 2
(A) LRI (B)  «<s{lel (C) oIS (D) AS
27. THHF QG (A0 DB 2023 G AT ASTFIN FAEE TR W e 2
(A) s> (B) sfifeTl (C) AT (D) Ai=TET
27. SERM S, 2023 AU IPL 1 wwre T IEeat faemn sgmE 2
(A) TR (B)  HTHRMC (©) TR (D) IS
27. SEUUA 2023 % SRM, SFAR F TAEl T AT H1 We] HSM HFE-91 o1 2

(A) TETEED (B) eIl (C)  HaTR (D) TSIt
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14242 +33

28. Find the value of 1 +2+6\/§—+4\/§'
1 1 3
(A ¢ B 3 © 3 (D) g
1+24J2 +33
28. 1+2+6J§—+4\E T el 758 |
1 1 3
(&) 2 B 3 © 3 (D) g
1+2/2+3/3
28. 1+2-|—6\/§—+4h/§ G I [efg 9
1 1 3
(&) ¢/ B) 5 © 3 (D) ?
1+2/2+3/3
28. 1+ ERRN NS M fegT |
1 1 3
(A) ¢ B) 35 © 3 (D) g
1+242+33 .
28. 1+ EFPNCIN] 1 7 14 Y
1 1 3
(A) ¢ B) 5 © 3 (D) %
Paper-IVIE 19 P.T.O.



29. Identify the incorrect term in the series.

{5, 8, 13, 20, 31, 40, 53}

(A) 13 (B) 31 (C) 20 (D) 40
29. {5, 8,13, 20, 31, 40, 53} *jR&N ST WGl oelle < |

(A) 13 (B) 31 (C) 20 (D) 40
29. owe FNbd ga AR s w4 |

{5, 8, 13, 20, 31, 40, 53}

(A) 13 (B) 31 (C) 20 (D) 40
29. TRIRAM {5, 8, 13, 20, 31, 40, 53} U™ TR~ fogEmE T=@’ |

(A) 13 (B) 31 (C) 20 (D) 40
29. @l {5, 8, 13, 20, 31, 40, 53} ¥ TG IS &AM |

(A) 13 (B) 31 (C) 20 (D) 40
30. Toyota has its headquarters in :

(A) China (B) South Korea (C) Singapore (D) Japan
30. TS TTHR Y F ST ¢

(A) B (B) wf=re (ifRl (C) Toratiom (D) @l
30. (BICAIGI 3w wdd FCAC ¢

(A) & (B) e (i (C) Pmrvm (D) @i
30. 2'9'dI MR Hew o1 9=l ?

(A) =M (B) Wren it (C) fEmgR (D) SHHE
30. IR % qEIed Sl fEd ©

(A) == (B)  <faror smifean (C) faEmR (D) SMUH
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31. If P, represents the product of the natural numbers from 1 to n, then P;+P,+P;+P,is:
(A) 23 (B) 33 (C) 37 (D) 31

31. MW 19791 n 051 Al FRANEAINT 519 A P, (BT (S, (9CF P +P,+P,+P, T e 3
(A) 23 (B) 33 (C) 37 (D) 31

31. 3 1 (A n 27T FeIRT Ao o P, @l e 791 @ ©@ P, +P,+P,+P, 3 2
(A) 23 (B) 33 (C) 37 (D) 31

31. Sfg P, S o smfsmn 1 Fwm n faafT FrsrermEEl s, sl Py + P, + Py + P, T 8
(A) 23 (B) 33 (C) 37 (D) 31

31. AP, ,1H n T &I WHdew HeAsti 1 TOFES H1 U 8, @ P, + P, + P, + P, 1 TOF T :
(A) 23 (B) 33 (C) 37 (D) 31

32. Which State is the Dandiya Raas a popular folk dance of ?
(A) Rajasthan (B) Gujarat (C) Odisha (D) Maharashtra

32. WIS 0T (PN AT GF G (I ?
(A) TP (B) woElG (C) T (D) =N

32.  GIfel AT (I ACEH G0 S Y] 2
(A) ArEEH (B) w&HIb (C) efex (D) WRAZ

32. <If<al &1 o« TESI G A\ ?
(A) TSTEM (B) TS (©) Sfed (D) e

32. sife T4 fFa T #1 i iyg i T3 © 2

(A) TSTEIH (B) TSI © siifeem (D) WHeENYe

X
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33.

33.

33.

33.

33.

A geometric figure has two pairs of parallel lines, intersecting at right angle. One pair is of length
8 cm each, and the other pair is of 6 cm. If the longer pair size is increased by 2 cm each, while the
shorter pair is reduced by 2 cm, which of the following statements is correct ?

(A) Area of the figure decreases (B) Perimeter of the figure increases

(C) Perimeter of the figure decreases (D) Area of the figure increases

@I @ TReTF Do A (F FAE FER AN @S 92| 3NE GRS AfSGR 0
8 (5.f31. =1 wiecaRE Oy 6 (5.3 | 3 Wiet (iR ARiRT 2f S 2 (6.1 ¢ 3w pf (o efsie
2 (6.5 tF g 9 =, (ors MEfefie @ Ofe we 29 ¢

(A) HawR CFawe g+ (B) foacsi T I =1
(C) Toarh =fTn 29 =ik (D) TR Faws I 21K

«3f5 Trifiifes fora 12 (ool ST @4 SitE, TR AN (F FE | G0 (ereR adfea o 8 Eifil.
G} B (STIE 6 FLEL | 7 o791 (weR «fslbeE 2 1R w5 3fds a1 27, et (@6 ieR ¢Feg 2 GifL
IR TN 2T, OIFEA A (@ (et 7o 2

(A) Torm Fifer gt wAE (B) Totm™ «ifkfd Ihw ~AI@

(C) Torax =ififa gpt i@ (D) foraw sifeT I i@

Y FEHAN FedfoemEE S A e SiEwR @9 @9 A 9 'a@El | SREE aeee a1 8 9.,
3TREE SR 6 9.0, | fe arafed st 2 .M. wrerer S SR giee st 2 9.8, wEE s,
37eeTl ool forgiforan e ?

(A) TRt e TH st (B) GRFIfS fommn anm arst

(C) ERffS fommen e Srerret (D) hIfeTal IR STt

Teh SATHA STehfd § THiaR T@msii & 31 SIS 21 €, Sl THehIU W Yidwde hid & | Teh SISl i aars 8 Il
%, SR g SISt i A 6 T ¥ 1 A oS SIS 1 e B 2 Y SR S €, St 91 SIS il 2 YH Y
e s ©, @ frefafed o 9 SiF 1 %o 98 ?

(A) TR H FAFRA T2 S & | (B) i o1 TRATT o & |
(C) hfa o1 afETy sea ¥ (D) 2Thfd 1 &kl oG ¥ |
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34. Two bells A and B are rung such that the bell A rings at every 30 minutes and the bell B rings at
every 25 minutes. If both the bells start ringing simultaneously at 6 am, then the very next
simultaneous ring will be at the time :

(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am

34. UG!Gl A S BI A TBICH! @S 30 St 5[ 03 == B 9eBICH @ifs 25 fNfa = o3 aifer Teo 1 3w
TCAG! 9512 6 am © Q09! TS S, (STF 961 W6! Graiea! e Tot 756 7 as T Aol T4 ¢
(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am

34. b 9D A 43R B OSSIR AGCHI 27 (T 901 A @lfis 30 NG Jiter @ 9651 B @l 25 S+ eh aicer | a3l
6 B TR 951 G358 AN AT SF (A, O(F RS | G| S o0 2 5
(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am

34. A AR BE=I @I SRAME AR ST ST A A1 Y 30 fAfera Ssme s B & Yo 25 fufeE | gt
el =T TS i 6 ReTare TsHl, STea o 5= 731 ARG Hisadl S SIS ?

(A) 8:00 am (B) 8:30 am (€) 9:00 am (D) 9:30 am

34. T HfeAT A 3R B 3 YRR I9E S § R HA A g&F 30 fae W At § o 5 B y@E 25 fie W
It § 1 At ST SifeaT Gow 6 991 Uk WY S IE 8 S, o STel U 91 St ST gHF A
(A) 8:00am (B) 8:30 am (€) 9:00 am (D) 9:30 am

35. Which country controls the Suez Canal ?

(A) Turkey (B) Israel (C) Egypt (D) France

35. (LT (0 HIES i EEel I 2
(A) I (B) Tewige ©) g (D) @

35. (I (el A e e R 2
(A) o (B) TR (C) (D) T

35. YUl TG 99 SE HHEAR ?

(A) TH (B)  ESRII (©) (D) ¥

35. WS T W HA-1 < FREfa war € 2

(A) TH (B) ¥R € = (D) W

Paper-IVIE 23 P.T.O.



36. Ifcosb= %, then the value of sin® is :

36. M cosh= % (S(T sind I I ¢

5
36. aﬁcose=§®,w3mmamﬂmg

5
36. \_g’racosﬁ=ﬁ, 3T&TT sind T AF ¢

36. ?Tﬁ‘{cosﬁ=%,?ﬁ sin <hT | :

A 15 B) & ©)

12

12
13

12
13

12
13

12
13

13

13
12

13
12

13

13
12

37. Which of the following statements is correct ?
(A) Sikkim shares border with Assam.

(B) Sikkim lies towards the west of Assam.

©)

(D)

S N ey

37. WRGRe @G e wg ?

A) Tofesm TSP tTre = 31 |

B) ol opE sif*ow e erifzs |

C) SPTIE STHIE ol Siis: IaieTes ST o 51 |
D) 3RS 1= et Ses STt o 61 |

(
(
(
(
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Assam shares borders with Sikkim and Meghalaya.
Bangladesh and Sikkim touch the borders of Assam.



37. oH (S [ghol v 2
(A)  FIRES SRR FTNICER SR |
(B) ORI sAos1ucss s eRfEs |
(C) Tl @G3R CIRIETRR A0 SRR I AR |

(D) ARFACH @3 PHfF SIS R |

37. TRMEM Jd fasfan o ?
(A)  Tafeerar strams fam T |
(B) fafarmn stramfT HeRT et |
(C) 3T fafaerd 3T HeTerast THHThR TSl |
(D) wicTew T fafrrn sTamfT famreRE il |

37. frefafed ol § 9 o9 @& 72
(A) Tafsra =t o9 ¥ o §
(B) fafawrm smam & ufvem # feem 71

(C) 315 i Hir fafera iR Teme™ 9 ot §
(D) =Ry iR fafsrn & Hm s/Em F T §)

38. Which of the following diagrams best represents Writers, Teachers and Musicians of our society ?

(@) @ Q (D)
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o o o o

RS (I a2 SN AT @TF, B i<k 375 ows 7T ey ol AfeRiag s ¢

« (OO .

38. g (e @’ ST FNITeR (@13, M G AFO®RE FAATE SIS Togoe F3 2

« (OO

38. o Qe Sifq THSIH feRFREeR, FRIFRER ) SEifiRere gefay feferm ?

« (OO

38. frmfafed § @ o @ fo5 TAR 9AS 6 @i, Rierenl 3 Giitaerrl o1 Terd o7=31 yfdffuc ot & ?

.© -
« (OO

38.
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39. Who has been honoured with Assam Baibhav in 2024 ?

(A) Ratan Tata (B) Ranjan Gogoi

(C) Tapan Saikia (D) Ranjit Shekhar Mooshahary
39. 2024 IS FF ST (IIS A 2 F9I TR ?

(A) <o GBI (B) <& sitsl

(C) o5 =& (D) s cix7 TR
39. 2024 A FIF SO (I HH 27l F1 B ?

(A) T GBI (B) & sital

(C) oo =ZFm (D) 3fge o2 PR
39. 2024 HRAEM AEM 999 HHEE! GRA! AMEE SS) 2

(A) T@H < (B) TSH TS

(C) qUA Hefehan (D) TTd I qemerd
39. 2024 H 3199 ava & Y womfa foman o @2

(A) T 2 (B) ISH NS

(C) T feran (D) A e BRI
40. Ason 18tof January, 2024, who is the President of Ukraine ?

(A) Joe Biden (B) Vladimir Putin (C) Valerii Zaluzhn (D) Volodymyr Zelenskyy
40. 1N QRIS 2024 ACATE To(FeE AT @ 2

(A) & JfECe (B) ®RFE«l (O =@ (wepes (D) wAfEha (oer®
40. 1 QR 2024 AATF 2SFER AGATS (& f=wW 2

(A) el qlRees (B) ®ifE sffeq  (C) wNei G (D) SEiUbE (S
40. 2024 HRAEM 1 AR @ifafadma Jeraf gRRARET JRgE ?

(A) S d&cH (B) wfefR gfd  (C) weifR Siegsw (D) w'a'feffR S Teht
40. 1 eI, 2024 1 Iohd o TLIA HE € 2

(A) ST faea (B) =fHR gfd  (C) ot S (D) SR Sicieht
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41. Which of the following mountain ranges is in Jammu and Kashmir region ?

(A) Pir Panjal range (B) Satpura range

(C) Dhauladhar range (D) Mishimi Hills
41. T R IR SiesTe TRl (@FRG! sifowe =g 2

(A) TR g siFoxen (B) e~ sifewal

(C) (TR ol (D) R g
41. oA (@I ALFoRTIT &3 @ PN TH0eT TFS 2

(A) TR NG o (B) o7l Ao

Q) (TR AFor=at (D) fff =iize
41. 5 TN FARE 97 TR SRR e ?

(A) TR o= g falk (B) &gy Bl faRk

(C) R T fafk (D) fafafe e
41. frefafed § @ ®F-H vdq o S0 iR FRER & 5 T2

(A) HR g goft (B) EdYS AUit

(C) drasm goft (D) faferdt goft
42. Who is the Director of the movie “Village Rockstars” ?

(A) Rima Das (B) Hima Das (€) Munin Das (D) Queen Das
42. “foreTe TFBIRE AN @GR 1 WO @ 2

(A) S W (B) faai e (C) T 7P (D) FAWP
42, “fS0eTe TG BA6Ad ARBIERS (F 2

(A) T we (B) fasti v (C) Y 7 (D) &M
42, ‘‘fues werRE' g geyEft Seafiian gx 2

(4) o< (B) fem=m (©) g = (D) F= T
42, ‘‘foore Ve’ fiven & s &F € 2

(A) T (B) femz (C) Hf <= (D) %A <
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43. (1% of 1)+ (2% of 2)+ (3% of 3)="?

(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14
43. (191%)+(232%)+(393%)=2

(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14
43. (199 1%)+ (2 &9 2%) + (3 &< 3%) =2

(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14
43. (1 M1%)+Q2™ 2% )+@ 3% )=?

(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14
43. (1 F11%)+ Q2 F1 2% )+ (3 HF13% )="?

(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14
44. Who amongst the following is a wrestler ?

(A) Baichung Bhutia (B) Lovlina Borgohain

(€) Sushil Kumar (D) Karnam Malleshwari
44. FSERS @RRF G TR 2

(A) 3ROl (B) Tl <oia®

(C) P (D) <is T
44, TREIRO@R M (& 9FGw BT 2

(A) ZR: giow (B) et Fcala®

(C) P IR (D) IR T
44. TEEM HR HEHE GHAR ?

(A) =g gfe (B) wufer SR

(©) i FR (D) O Heaed
44, fr=fafed § 4 HF Fyde €2

(A) ST i (B) T SIARTE

(C) Wi FR (D) YA HeRad
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45. The Civil wars termed as the Wars of the Roses was fought for which throne ?
(A) British throne (B) French throne
(C) Russian throne (D) Spanish throne

45. (I PIEPFR AW (@I#R JF (Wars of the Roses) JI5 5J2% Al A<D (228 2

(A) = Pirzem (B) = B
(C) i Frezem (D) it Ficgem

45. (ANeTICoR @ (Wars of the Roses) W3 #&Ib® Jeq@alel (R PiraIeR ge) Ao 2w 2
(A) &= Ficarm (B) =T FiRar
(C) AR Pregem (D) = iz

45. T[RRI TEET (Wars of the Roses) Hf TG IE@E1 o TSITHTEAM 2Ram SR ?
(A)  dfqe TS (B) Wl USITEREA
(C) ufganty TsifEeEA (D) Ef i USifEerEH

45. T % g (Wars of the Roses) e SIH aTel Teg5 fhd fHeeH & fag @€ T 972
(A)  Tofew fogmm (B) hd fogred
(C) &I e (D) w1 foerEA

46. Which is the odd one out of the list ?
(A) Chapters (B) Preface (€) Index (D) Book

46. TR Oifeiwle (@] e 2
(A) SR (B) Il Q) ! (D) Feivl

46. SIfeiR (G s Al Ko 2
(A) SR (B) T= © b (D) ®

46. TS HigEr@! TR fogT -
(A) @l (B) M HRA™ (C) @i wR (D) fosma

46. A HYIA T ANSR?
(A) HAEE (B) U&IEAl (C)  STIhHTUTERT (D) Y&
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47.

47.

47.

47.

47.

If SATURN is coded as TZUTSM, then how will URANUS be coded by same plan ?
(A) TSZOTT (B) VQBMVR (©) VQBOUS (D) VSBOVT

Tt SATURN & TZUTSM 251t '€ 341 27, (90T 79 4E URANUS T (S F'C <1 T 2
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

M SATURN (F TZUTSM IR FFRge | T, IR @32 W30 URANUS (3 FO[R A0S
TR ?

(A) TSZOTT (B) VQBMVR (©) VQBOUS (D) VSBOVT
€ SATURN 1 #e®&t TZUTSM @reiHI, 37sal URANUS 9 #e@t drst Wetr i ?
(A) TSZOTT (B) VQBMVR (©) VQBOUS (D) VSBOVT

IfC SATURN &I TZUTSM % &9 | whifeq foran T §, @1 36t A1 & 38R URANUS &1 oy whifed
ERISIUIY

48.

48.

48.

48.

(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT
Which of the following is best depicted by the diagram ?

(A) Cat, Fat, Rat (B) Food, Clothes, Friends

(C) Assam, India, Asia (D) Geometry, Botany, Economics
e ez fxffie @RER AEeTelr bias ska 2

(A)  CTF, S, 473 (B) <, <,

(C) P, Sl afel (D) oyififs, Sfewfaw, siefirg

e foafs Ta @A SiareiE 3¢ & 2

(A) R, bl 2= (B) W, T, 79

(C) P, SIS, @ (D) eifuife, Sfegnmm, wieqifs

o e Are drefa fefer ?

(A) HENS, HIGERIHI, TSR (B) ST, UM, ANHR

(C) 319, 9, TfEan (D) qAY, Il o, T
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48. T ™ s frafafeaa # @ o guiar €2

(A) faeeh, g, @ (B) @I, kU, S

(C) T8, YRd, TRMN (D) SR, aeafd fagm, stefemes
49. Who amongst the following has not won the Jnanpith Award ?

(A) Birendranath Dutta (B) Nilamani Phukan

(C) Hiren Bhattacharyya (D) Mamoni Roisom Goswami
49. RIS @R FIR @A ! 7S 1 AR ?

(A) ™I Te (B) lersItel e

(C) 2 ©EHR (D) SIS FEHS (A
49. 0% TERSTR M & @AY THR A FE 2

(A) JEEIL e (B) TRTSIf T

(C) EEw SEmR (D) IS et (s
49. TEME™ T ER &A1 JEUS SRE! Wb 2

(A) TorsTe s (B) fe1'af Ferd

(C) f&E auiREE (D) 't TIw TEE
49. fr=fafea # 9 e IS TWRR & Sl € 2

(A) g (B) rermfuT ek

(C) fex wgram (D) T o e
50. Which of the following is NOT a non-metallic mineral ?

(A) Silica (B) Limestone (C) Bauxite (D) Dolomite
50. FRRIRS @R o-rex Afe s 727 2

(A) foferet (B) gerf¥ie (©) D (D) TeTwIH
50. WIbH (PING T-4Ie Afefer 73 2

(A) Prfers (B) gellsfiem (C) 9B (D) TN
50. TRHAE e ¥qAfe @i 99E ST ?

(A) Taferem (B) g1 3T (C) dhHTEE (D) TeA'HIEE
50. freAfafed § § FH-91 T ereifas G & © 2

(A) fafasr (B) TR (C) iferTEE (D) <rmmEe

Paper-IVIE 32



51. Which of the following places does not host IPL matches ?
(A) Mumbai (B) Dharamshala (C) Patna (D) Hyderabad
51. RS @G e IPL (SNEf19e) (52 Sfos 127 2
(A) TR (B) «Fiial (C) =I5 (D) ZTRVRRAW
51. SI6A (W SN IPL (Si2folaet)-ag (et Sefos 1 1 2
(A) Y= (B)  4sifal (C) =l (D) ZE@Em
51. TRMAM 98 SEATETE [PL (TRYNS) 1 STeResHm St 2
(A) TR (B) ERERI (©) e (D) TEETER
51. fr=fafad § 9 -9 ©F IPL (STEdTa) 8= o1 Asiar 72f idl & ?
(A) T (B)  erdeIe (C) e (D) TEE
52. The sum of the roots of the quadratic equation 2x>—5x+3=0 is :
3 5
(A) 2 ® © (D) 5
52. RS AT 242 —5x +3 =0 T AL (F2H1 I (91T (T ¢
3 5
(a) 2 ® - © - (D) 5
52. @aife TRRRe 202 —5x +3 =0 9 ER NS Z ¢
3 5
(8) 2 ®) © 5 (D) 5
52. 2x2—5x+3=0 AT+ SHHLEA USTRRMA SRS
3 5
(a) 2 ®) © - (D) 5
52. fgemd |HieRRor 242 —5x +3=0 % Hail 1AM T :
3 5
(a) 2 ®) © 5 (D) 5
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53. Yesterday just after sunrise Rajiv met Samir and was talking, when Rajiv noticed that Samir’s
shadow was seen towards the right of Rajiv. Which direction was Samir facing ?
(A) South (B) East (C) West (D) North

53. R ERR 0% Fiere AGIE s @9 #1i2 F 21fS A AGIE 7% FRE @ ATK 26!
INGRE CIIRIeT T S| IR (Fi 7o 4 9 iz 2
(A) mFERd (B) (C) Moy (D) Tes

53. IO MR o192 AG R TN A (72l F(E I TR, $4 AG R 75 e (@ NN 2 AG &R
TR Wt (74l [P TR (i e 32 I et 2
(A) mFE (B) & (C) Afow (D) Y&

53. U WM AGRAE 3G it FERE! TRl JH1 SR T aFEE Ohven 3991 7 9t arast
ISTaI SR Tretal | i sfe grat STeiAe 2
(A)  Trey (B) WY (C) IF@EfY (D) Iy

53. ol YARH h 2k A% Tsid FHR § e oIk 9 o W@ 9, T 7 <@ fh 9k a6 WeR TS &
e AR femmE T @ ot | wHR o1 g@ fone faen # o ?
(A) cfam (B) T (C) ufw=m (D) SW®

54. Which sport did P.T. Usha play ?
(A) Athletics (B) Badminton (C) Table Tennis (D) Cricket

54. 1.5, TAR @iy (deTe wixelal SRl 2
(A)  QUAETHFE (B) (CfIGH (C) (53 Bz (D) f&s

54. o5, TAl (@ (LeTR (ETCe 2
(A)  SHILCEGH (B) DA (C) @GfRe G (D) fe&=s

54. fu.fd. S A T EEE ?
(A) Tifead (B) osfh=ed (C) dfda afta (D) fhehe

54. U3 WA RE-H W@ Gl ?

(A) TIfeT (B) defHed (C) <oa g (D) e
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55. Rearrange the following components to form a correct sentence.
i)  where no man had

ii)  here we are strolling

iif) ever set foot before

iv) on the surface of the moon

A) () - (i) - (i) - @) (B) (&) - (i) - () - (i)

Q) (i) - (i) - () - (i) (D) () - (iv) - (i) - (i)

25 [25  [i6
56. oo — i ~ Ao = 7
729 \144 V81

R 5 -2 o 38 o -1
225 25 16
56. o — T — (5 = ?
729 144 81
R 5 o2 o 38 o o4
(&) -5 ® -5 © -3 D) -~ 5
., B _ B _[6_,
) 729 144 1 '
R 5 o2 o 38 o o4
A -5 ® -5 © -3 D) -~ 5
o, [P _[B _[_,
) 729 144 1 )
R 5 -2 o 38 o -1
A -1 ® -5 © -3 D) - 5
225 25 16
56. 4o — 4 o = ?
729 144 81
R 5 -2 o 5 o -1
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57.

57.

57.

57.

57.

A political and legal process by which a legislative body or other legally constituted tribunal initiates
charges against a public official for misconduct is termed as :

(A) Impeachment (B) Re-election

(C) Enforcement (D) Enactment

I R 728 2[NSzl sifFe S (@I Wi @i e [T see oin<es e
ATE TR AT < D2 AT @il 27 2

(A)  SIfScae (B) <5
(C) R (D) o

a3 AreeT @ =izl wfEFm a7 aEl @36 SR 71 A Sy SEHTTSIE IS ArEifae SrmibaeR
Tl GG TN FAFOR [0 B9 A7 9F T OIF A0 ¢

(A) SIS (B)  sfmsfiiDe

(C) TEReF (D) =NETRRRe

TSTETf-erTR AR SR foranf-er st 9 9ReEnR foaemiTRi= SR 3e STEaE g Ul <93 ST
SIS S SR o1 TS SRg SATeTe eATeFmea! |11 g1 2

(A) TS AN (B) W@’ A
(C) SR Q™™ (D) SR TIAHA™I

T Tefas 3R AT gfshan ek g/t faumrh frem o o= et &9 § nifed =menfyso fweh
greitieh TR & faeTh weER & fau STRIY JE o3l €, 98 e § :

58.

(A) eI (B) AT

(C) Yada (D) sAffrEEA
Identify the correctly spelt word.

(A) Conservation (B) Consarvation
(C) Conservetion (D) Conservasion

59.

59.

59.

59.

59.

Identify the sport related to (Major) Dhyan Chand.

(A) Football (B) Wrestling (C) Boxing (D) Hockey
(&) GG 0O SG® (XE1S 713 oelle < |

(A) FoI (B) “ela © ey (D) =f®
(TR WisIna 0o TAFe (4aifo fofee w2 |

(A) o (B) I © ogm (D)
(SR SAT=<El 6 TS Gl SH 2

(A) Fead (B) THAIH (C) dram™ (D) ®'wl
(FSR) =M=e 9 Hafyd @l sl 989 |

(A) Fesid (B) Fwel (C) HhaST (D) el
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60. Which of the following is an Assamese jewellery item worn in the ears ?

(A) Golpata (B) Horinsokua (C) Jonbiri (D) Thuriya
60. RIS PG 2oz T o «F SR il 2

(A) leisrel (B) 2Rz © e (D) =
60. <IA (I G SPITI SEF A P #4701 2 ¢

(A) Aeisrel (B) ez © o (D) e
60. TMRMEM ool STHIHAT TRATE! ST T ?

(A) T (B) =fTaga (© JfaR (D) e
60. TrAfArEd H 9 HA-| S H T S STel STHHAT STYH § ?

(A)  Trerad (IS EEE (©) e (D) e
61. In which country was Christopher Columbus born ?

(A) Spain (B) England (C) Portugal (D) TItaly
61. (T (T BTN FoTA T (e ?

() A (B) Y (© gt (D) i
61. [@EDFR TN (T W03 TR FE 2

(A) i (B) Eemie (C)  coArgeirat (D) 5ifs
61. Toh&d "R heTs 9 SIFM BIGU Se™ -

(A) w1 (B) A= (©) T (D) et
61. TR FIcierd 1 5 fohg <91 § ot o1 ?

(&) = (B) 3wie (© T (D) et

62. What would replace # in the sets ?

5, 120, 3}, 19, 630, 5}, {9, 810, #}

(A) 8 B) 7 ©) 6 (D) 4
62. {5, 120, 3}, {9, 630, 5}, {9, 810, #}

TSGR # s ez afemisq sfq ¢

(A) 8 B) 7 ©) 6 (D) 4
62. =ve Wfeulre # Hzha BEw i afegifre = ¢

{5, 120, 3}, {9, 630, 5}, {9, 810, #}

(A) 8 (B) 7 € 6 (D) 4
62. {5,120, 3}, {9, 630, 5}, {9, 810, #} YIXHRIE # W AT GGl T ?
(A) 8 B) 7 € 6 (D) 4

62. = {5, 120, 3}, {9, 630, 5}, {9, 810, #} H # T T FT T ?
(A) 8 (B) 7 € o6 (D) 4
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63.

63.

63.

63.

63.

The population of a town increases at the rate of 10% every year. If the present population of the
town is 10,000, then after 3 years the population of the town would be :

(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

(I G2 F91T TSIt @S T=a 10% I 2T Jfan {17 | 99981 T Syt 10,000 T 3 T ST
TN [I TR TF ¢

(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

@3 *2rFa SR @S =8 10% 2@ I SAF | =27 I[6TH TepiRadl T 10,000 T, ©=CA 3 IR A
20 SPIRal 2(F ¢

(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

Y AR e IeEiet SER 10% 3R aRER | S[fe STt g5 |@ist 10,000 3T SER 3 4
e Sl S ?

(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

Th &R i SHEET & T 10% 1 R F Fadl g1 Afg I8 i adq\ & 10,000 €, 1 3 99 918
@ B
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

64.

64.

64.

64.

64.

The product of the roots of the quadratic equation 2x>—5x+6=0 is :
(A) 2 (B) 3 © 5 (D) 6

e AT 202 —5x +6=0 I TN (F2HR 7T (2R 2
(A) 2 (B) 3 ©) 5 (D) 6

21T ARl 202 —5x +6=0 G ST Bope] 257 2
(A) 2 (B) 3 © 5 (D) 6

232 —5x + 6 =0 S AU VSRR TSR ¢
(A) 2 (B) 3 © 5 (D) 6

fEema IR 262 —5x +6=0 % el I OA®A ¢ :
(A) 2 (B) 3 Q) 5 (D) 6
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65. Which country are Kira and Gho the national dress of ?

(A) Nepal (B) Cambodia (C) Bhutan (D) Vietnam
65. T WII=: (1 (I (TI9 SIS T NGRS 2

(A) Gl (B) FFTEx (C) oo (D) fowasa
65. a1 G (AN (T (0 SIS (A 2

(A) Gl (B) calw (C) woN (D) fotTes™
65. o 3TRI i1 3T 919 B SRR THE ?

(A) U (B) ¥ 'fean (C) HaH (D) Twaa™
65. fora iR = forg <91 6t TS dremes § 2

(A) U (B) shalfea (C) Y (D) o™
66. Which of the following is a part of Mahabharata ?

(A) Upanishads (B) Puranas (C) Vedas (D) Gita
66. RIS (@G T2rees bl =igH ?

(A)  Toifrm (B) == ©) @m (D) Trel
66. <A (T TLSHCST S<H 2

(A) Toifm (B) = ©C) @m (D) Trel
66. TR &A1 HEIYRA @il ?

(A) SufTEg (B) TH (C) == (D) fimm
66. frfafed § ¥ SF-W HevRa &1 fewm 82

(A) SufwE (B) T (G (D) it
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67. As per the diagram, which zone represents married nurse who should be sent for training ?

Nurses in
Hospital
2

1

47\ 5\
6 3
Married Trained Nurses
Population
(A) 2 (B) 4 < 3 (D) 7

67. ova Ba FH! wes ek A AlTRe [aifze oRuiftes afef g s ¢

irTTre Tt
lsnissal
2
1
417\ 5\
6 3
ﬁaﬁ%w:ﬂﬂmq ae
(A) 2 (B) 4 ) 3 (D) 7

67. 27 foq SEPIE @i SiHifb aAfémreeR oy Aot Tfve Raifze anpfom efsfifay v ¢

ZAANSICER T
2
b/ 7\ 5\
y 3
fFaifee sz © R
(A) 2 (B) 4 <© 3 (D) 7
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67. TTERMR Hd, 98 W1eT BRI Al e TrewmRa! faf-eri 2
AL IREIC]
ABR
2
b/ 7\ 5\
6 3
S BRI A
e THER
(A) 2 (B) 4 © 3 (D) 7
67. T&d T 3@ % SR, i @1 & faenfed 16 o <vian & f5& wfbreror & ferg Srom St =nfew ?
AT
R
2
b/ 7\ 5\
6 3
- ; gfera =4
(A) 2 (B) 4 © 3 (D) 7
68. Which of the following is a State of the United States of America ?
(A) Hawai (B) Fiji
(C) Papua New Guinea (D) Solomon Island
68. TNMIR® (FFCE! SR SN G ey 2
(A) =R (B) &
(C) =@l o (D) bR a7g
68. TIHA (I NFT ISANT 45 ST 2
(A) QAR (B) fofa
(C) A7 [T (D) NI G1517]&
68. TR el STHERT ST SIS HId TSl ?
(A) TEE B) fwfs
(C) rgen = fifq (D) W'a'"T fqumr
68. frAfafEd § & HF-T1 HyF 5T STHRH &1 TH TA T2
(A) ®BE (B) fimsit
(C) urgen = fiey (D) W™ g9

Paper-IVIE 41 P.T.O.



69. The average of 9 observations was 9, that of the first 5 being 10 and that of the last 5 being 8. What
was the fifth observation ?

(A) 8 (B) 7 Q) 9 (D) 10

69. (T 9 Bl IR 91C Wi 9, 2N 5 5IF 91T W 10 W (X1TF 2A5TIF 51 T 8 | 2L 249 W
oifes 2
(A) 8 (B) 7 ) 9 (D) 10

69. 95 “RiEFed oo 7 9, 2124% 5 B9 10 @32 w5 B 8 | o2 »IA=aifs I fet 2
(A) 8 (B) 7 Q) 9 (D) 10

69. HM 9 THGARGRM T 9 : Famifas 59 5 71 71 10 0 Afa= 59 5 Fn 81 &’ {1 R 99 ?
(A) 8 (B) 7 Q) 9 (D) 10

69. 9 3TocIehl k1 3T 9 AT, T&el 5 ki 319d 10 o 37 3ifad 5 o1 379d 8 o1 | Tiwal Tercileh & o ?
(A) 8 (B) 7 Q) 9 (D) 10

70. Which of the following is different from the rest ?

(A) Samaveda (B) Rigveda (C) Yajurveda (D) Ayurveda
70. WRERS (FRG SHERESE 52T 2

(A) T (B) 4T (©) g (D) e
70. NI (TG SR (ACF LT 2

(A) TS (B) =t (C) g (D) g
70. TRMEMN o HFEAT TEARRMRR S[&T 2

(A) |wHER (B) foms (©) FIwR (D) HT
70. Trfafed § ¥ & aiferdl & i 72

(A) W (B) O (© =R (D) eTgeT

71. Who wrote Pride and Prejudice ?
(A) Jane Austen (B) Barbara Cartland (C) Agatha Christie (D) Virginia Woolfe

71. 22T 9@ fagior d (@i iz 2

(A) (oW SR (B) 3= Ffocere  (C)  wmane FR (D) eIl T
71. & &2 99 e Fdc ¢

(A) T S5 (B) IR FOeme (C) =il fF&He (D) wifEw e

71.  FE% UUE §9fed @GR ferm 2
(A) S TERA (B) WRAN &eive  (C) oM frfe (D) wRfSIfn 3o

71. 35€ TS Y9leq fohe foran?

(A) SH SAEA (B) WRENI &Ieie  (C) oFmen fohedt (D) SIS Ieh
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72. In which sport did Monalisa Baruah (Mehta) and Tridib Duarah represent Assam ?

(A) Badminton (B) Volleyball (C) Taekwondo (D) Table Tennis
72. (AR (4TS N6 941 (TIZel) Wi fafua wx1iE sroiss afsffag sk ¢

(A) (CCRrG (B) wEIRe (C) DTSl (D) (5Ja1 (Gferm
72.  (NIETT TRl (TRl @R G IR (I (4 SPIeR alfeiNiag FEfRe T ¢

(A)  TIeRT (B) Sfewe Q) R (D) GRET G
72. HAIfCrEn S%an (Fedr) AR ffed gormn 99 SeREaREEE! STHH S e ?

(A) wsfi=ed (B) wfctadt (C) T g’ (D) dfew afta
72. It s%eT (Fear) IR fafea gem 7 fora wa # omm o1 wfaffae foran ?

(A) defHeq (B) afchalra (C) TrEEEEl (D) <oa fE
73.  Which word would substitute the marked portion - “The Zebra stripes on roads are for crossing by

people who are walking " ?

(A) Pedestrian (B) Pediatrician
(C) Pollination (D) Postulation

74.

74.

74.

74.

74.

In Assamese literature, who is known as the “Dhwani Kabi” ?
(A) Binanda Chandra Barua (B) Ananda Chandra Agarwalla
(C) Mahendranath Deka Phukan (D) Mafijuddin Ahmed Hazarika

SPTRT Afeere (@ “w/id 3 el Tee ?

(A) a7 vw I9< (B) SllW b SNSRIl

(C) AL (THIF (D) Rrgfwa oNem e«
(A) v v e (B) W b oSl

(C) 2L (T Fh (D) WIRFESwe SIZEM Fei=
STt YFersare, 9 et e’ g fafersma 2

(A) o< =g o%d (B) A< == SIS

(C) HR=AY T Gk (D) WfFSISEA TEHT BTet e
sTafEn wifec & eaf wfa’’ & 9m § ford S ST § 2

(A) o =ig swen (B) Mg =g SARET

(C) HEETY SHT Feobd (D) ARFIER sTene TSftam
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75.

75.

75.

75.

75.

Which of the following is correct ?

(A) Volcano cannot exist underwater.

(B) Sea does not have any water current.

(C) Almost 70% of earth surface is filled with water.
(D) Land mass is almost half of earth’s surface.

eTre My (G v 2

(A) SRR ANE oo 98 A< @RI |

(B) IS (FICA 490 AT Gif® T |

Q) ISR THfSIsR A’ 70% ©lal ATIE SRE S|
(D) 7JfRSR THARCIE oI W@ S o TS |

s Taie @b wg 2

(A) TR TIo SR ARFCS A |

(B) ITCEA (I SEAE® (712 |

Q) T e 2’ 70% St TieeT 2l |

(D) TR sjroa @ll7 Sds ZeTel |
NIERIEECE I

(A) 3101 drEreT § e omn|

(B) TRl Sialt € SRR |

(C) WM U™ 70% STEFISTHI < S SHaH |
(D) T-Er<IeT g-|i U Ere |
frfafed § 9 -9 9@ €2

(A) SATATE! I o 1S HiS[g Tl 1§ HeheT |
(B) g H IS ST Tl ¥ |

(C) gt i TR I AT 70% AT IHT F o1 g T |
(D) 4T Yool T TAqE 1 TN ST g |

76.

76.

76.

76.

76.

In which city is Dalal Street located ?
(A) Kolkata (B) Chennai (C©) Hyderabad

VA o (FILe TZ0S SRIZS ?

(A) el (B) &R (©) EmEIRm
ieTe P85 (e *120E SRES ¢

(A) TRl (B) (oHIR (C) TTERM
e feger =i ?

(A) eI (B) == (C) TEEER
TeTel e fond wret H frem § 2

(A)  hictehraT (B) == (C) EeUEE

Mumbai
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77.

77.

77.

77.

77.

Name the Mughal emperor whose army was defeated at the Battle of Saraighat.
(A) Aurangzeb (B) Shah Jahan (C) Babur (D) Humayun

*J2A53 T 21T 799 FI G961 AFOGH (Fle 2

(A) SRER (B) blzE« (C) 3RS (D) =R
=BG Y& ([ (N9l A “iifere Zraferee R wis & |
(A) @S (B) iz (C) IR (D) TG

H{I‘.iblldi:l GlaelHld !sisllHld Hecl HHI< qIAM ?

INEELSE! (B) g SRH (C) @R (D) THRA

I WA G 1 A1 FdrsC FSHEhT 91 TRIEEE 6 g § 3R T ot ?
(A) s (B) el (C) =R (D) T

78.

Identify the correct definition of verb.
(A) Naming words (B) Things description words
(€) Action words (D) Joining words

79.

79.

79.

79.

79.

72 toffees were distributed to some boys in a group. Each boy in the group got twice as many of
the toffees as the number of boys. The number of boys in the group is :

(A) 6 B) 7 © 8 D) 9

G5! oTO 4l (FIGA &1'9F TGre 72 FRAF 5 o7 91 Lo | woiq 2foee o7'91F ©lsre #[1 5iFg 7270
Ve A I AT AT GR0IF AN | TETCHI A 1A I AR (27 2
(A) 6 (B) 7 ©) 8 D) 9

72 16 5fFF «aveT (2eeTovd Soe Teael 391 = | weed 2ot (2re, e Al (R AT Basel 5 AN | e
(RCETOAR A T 8
(A) 6 (B) 7 € 8 D) 9

o~

Y T R BT 72 9fth T STel | SISkl 71237 SISTare AR 79 R SARTH 1 SR it
qel | o BIIETe 9o 719 R SHA ?

(A) 6 B) 7 © 8 D) 9

T 998 § $9 Al 1 72 fRar foafid =t 1 U § Iois e I gl ot 9e ¥ SrpH 2ifwar
fireff | Tg # oI i GE& T :
(A) 6 (B) 7 © 8 D) 9
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80. Which of the following is a collective noun for ships ?

(A) pack (B) herd (C) swarm (D) fleet
81. To which emperor was Chanakya the royal advisor ?

(A) Samudragupta (B) Ashoka

(C) Chandragupta Maurya (D) Skandagupta
81. DI (T ! FFI SR THAWS! wiifeeT 2

(A) TEed (B) SICHIS (C) vmad G (D) FwaY
81. Bl (PN FTHIGA ACH I THMB! e 2

(A) TRY (B) A& (C) tmud G (D) JWaY
81. RIS ol THTE YSThIGIR s IR ?

(A) WIS (B) T (O ==<Ed (D) =
81. U fohd HHIE % Rl TeARHR & ?

(A) TR (B) oI (€ FEEEE (D) W
82. Which Assamese movie is based on Bhabendra Nath Saikia’s novel, Ontorip ?

(A) Pratidhwani (B) Krishnachura

(C) Barua’r Xonxaar (D) Agnisnan
82. S(AWIY RPN oI &7/ TR SIS (Pl ST (@Ie1pid i Tarm

(A) dfowf (B) FRul (C) QT AAR (D) IR
82. (IR PRI Geilbbais S I *EF R o/ T2y SReTH e 2

(A)  dfewE (B) Jepol (C) = AR (D) e
82. TIEHEIM oel STHHAT ALY el Fefohal §el | SR g/7 qrama foen e ?

(A) wfasafq (B) TS (C) =RAI HAR (D) A=
82. HMF-HI eTEfE fhew woig Mo Afera & T $77¥IT W SR T ?

(A) gfdea (B) HUEEI (C) 3R HER (D) AT
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83. Which country did the martial art Taekwondo originate in ?
(A) Thailand (B) China (C) Korea (D) Vietnam

83. TIFRIS! TN AT IR Teoife @ e (e 2

(A) 2ECETs (B) M Q) iRzl (D) o
83. IR SIRTRICHR GooAf€ (F (M 2
(A)  2AETie (B) S Q) i (D) fotTes™

83. TrERMEIR SR AEeg 37 ool BeUd SEURIHAN ?
(A)  9Eee (B) =M (C) i (D) frdTm

83. THFEIS! T YA i Scdtd ford To H g8 2
(A) oS (B) = (C) wifEn (D) foaa™

84. Who has won the highest number of gold medals in the Olympic Games ?
(A) Mark Spitz (B) Michael Phelps (C) Jesse Owens (D) Paavo Nurmi

84. (I SMGI™F (LTS AW FRAF (AT 7AVE TS FIECR ?
(A) TF e (B) Wiz (C) (SR SER (D) #icet i

84. ST ol Afer@IfelT (& A AT T oS FAREH ?
(A) S Fore (B) iE(H @ (C) (SN S (D) #icet

~

84. 3ifdAftyer SCEAEA™E TRE Fafsl Iifa 917 Agd € ?

(A) e fogest (B) HEhd heqd  (C) SIY e (D) Ty’ g

84. 3icifush Well | Faifers Tt uesh fore Sid € 2
(A) Tk feest (B) WIEhd oW (C) Sl e (D) Tl e
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85.

85.

85.

85.

85.

Which Hindi poet is known for “Madhushala” and “Agneepath” ?
(A) Ramdhari Singh Dinkar (B) Haribansh Rai Bachchan
(€) Sumitranandan Pant (D) Maithili Sharan Gupt

RIS 2 SR TP SR “Ifaieie” AR e 2
(A) TR P e (B) 2= 1% 06w
(C) @ % (D) CaIfeT! bael &g

@I 2% SR T G S Te S ¢
(A) [T PR e (B) 2R A I
(C) ARG (D) CaIfeT! *=el @Y

IR fet Tremeiiren ' wyemen’’ &R ¢ eifiuet’’ amem fafusm 2
(A) AR T feTe (B) BREW T o=
(C) HfH T4 9= (D) Hfoel TRo T
HA-1 &t wfa  weenen’’ o) ¢ sifiuer’’ & fere ST S € 2
(A) THHE e foTet (B) BEw T s=
(C) HfHered dd (D) Hf¥el o T

86.

86.

86.

86.

86.

At a class test for 50 students, the average score was found to be 45.5 out of 100. Upon checking,
it was found that an incorrect data-entry had occurred where 85 was incorrectly entered as 58.
What should be the correct class average ?

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

50 T FrRILE BT (R AR 100 TS fOoTe 2lld 91T 99 (202 45.5 1 SR_rwere (w4l o'e (T @5l 9L
TEYGS 85 T 9120 TallF 58 o1 79I TWYE 41 (22| (HANH Al TH99 wd T w21 Tfoe 2
(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

@3 @ ATFHR 50 T RS 57T AR ((FF) 100 G T 45.5 2167 T | ST @l - @
@3 T SR TR TCHCE, (TR 85 TeTSId 58 R 2t T 2R (RN A 91T @ 2eq
e ¢

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

T 50 FEHTRRE @l SIS AFA™ TS T8 100 37 45.5 | ARARAEE HHemEfe @i Se-mme
TRifrerd 85 Wit 58 feRAT el | ARG oI T3t o1 S 2
(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

50 BEI & Teh H&ll T § Hafl ol 319d ThR 100 § § 45.5 TR0 T | g & T, I8 9191 7T foh T
TTeTd S2-UST g8 oY, SRl 85 i TTeTdl ¥ 58 % T H Tol fohdT T AT Wt el S 1 ST =1y ?
(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40
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87. Which type of Democracy is presently being practised in India ?
(A) Direct Democracy (B) Representative Democracy
(©) Social Democracy (D) Totalitarian Democracy
87. TN SIS (LT 9190F 2bfeTe ?
(A) oo ST (B) foHiagers sieg
(C) TG alrog (D) SRl 9o
87. A SRS (P LA 707 2bfeTo ?
(A) oo SioF (B) fofagers siw
(C) ANTE siereg (D) SIfEmRAlT! olereg
87. STferaTeTel YRt |1 QWM @ T 71 ?
(A) st ggaf (B) o< Y@ty
(C) TR geEry (D) &« TMRIR gewf-=
87. RA H oM H ford TR Y UG yaIferd €2
(A) Y& ks (B) fafdfy elrehd=
(C) HMISTeh Tlehd™ (D) SATIRaTEl elehs
88. A curved waterbody formed when a river changes its course to take a shorter path is known as :
(A) Archipelago (B) Isthmus
(C) Oxbow lake (D) Delta
88. Wl G 5fS A2l 7'CeT 9IfS Tl FRCET 910 (@1 51 IF TETSIIT @l 2T 8
(A) @l%olg (B) Q&
(C) I (D) T-@
88. =G | I OIF T2 ARKET T (B! 712 (7T O (F TFII S 9170 =7 I TG 5
(A) @7jg (B) @&
(C) wHTAFo R (D) T-&A
88. N YA AT A T WiegATAd S SRell Srafe TediHi Sl EEall
(A) feu g e (B) B Y
(C) T Y feredr (D) «-feu
88. & IE TGl BN T YA o ToIU TU1 TR Scerdt § f 4 STell SHIEIER SerRITST bl el Sl § ¢
(A) B9 e (B) TCTSH®EAY
(C) gy et (D) T
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89.

89.

89.

89.

89.

The product of two binary numbers 101 and 10 expressed in binary numbers is :

(A) 1001 (B) 1010 (C) 1100 (D) 1110

WG! @o 2elleTiy ALl 101 S 10 T 7T & 2elleTT® oA FR0e 27 ¢
(A) 1001 (B) 1010 (C) 1100 (D) 1110

73 s AN 101 @R 10 G @eiwat BT AR A& ore 2w F90e “feml T ¢
(A) 1001 (B) 1010 (C) 1100 (D) 1110

T SASTHHER S 101 3R 10 7 FFSTemaE! SHAfSHHa AfsHEe SR ¢
(A) 1001 (B) 1010 (C) 1100 (D) 1110

T fgememd demsii 101 3R 10 &1 oHE fgenearRl densti § U o fowan s € -
(A) 1001 (B) 1010 (C) 1100 (D) 1110

90.

90.

90.

90.

90.

A person borrows a sum of ¥ 1,00,000 at a simple interest of 6% per annum for 2 years and invests
the amount at a compound interest of 6% per annum for 2 years. After returning the borrowed
amount with interest, the person earns a profit of :

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

GG 0T T 6% T 70 T 1,00,000 T 2 T2 I LI 371 CH SN A2 6% 5% 0 2 I8 A
(12 4 RIS SR | 4IRTET @R 47 FC-CE ARG TN HA1RS TS Sl 1 T e 2IfsTiet (20 ¢

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

O3 & 2 IEF G I 6% T A7 F T 1,00,000 TIF 417 (7 G3R (72 B 2 IR T A 6%
R vagfa o Rl | 9w 972 413 Bl (7o reTF -+ Ifea wifers o == ¢

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

T gHfEE SR 6% BN TRl gg BFF SER 2 1 9@ 2 1,00,000 I <RRIE o SERIR 6% 81
RIS Ga1'a arER 2 1 o T 6| SRR e T8 Esit arie SfE o TRt s Jere
e ?

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

T Af 2 |a o folt 6% gfaad & HER = W T 1,00,000 St AR SR ol § 3R 39 T 1 2 95
% foTT 6% wfqad & =shgfe = W a9 L § 1 SUR ot TE T =S |fegd dlieH T AT i oty g
T

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240
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91. Which Continents does the Mediterranean Sea lie between ?

(A) Asia and Europe (B) Europe and Africa

(C) North America and Africa (D) South America and Africa
91. (I U A JTero GG S o ?

(A) @Rl o= 2TE (B) TSI = Wi

Q) T RS == SF (D) wfErel SR S SRl
91. QNPT (I Y0 TRATICH (L SRZS 2

(A)  «afmt @% T (B) TTGAIP @R Bfe

(C) T& IR =R S (D) wi=Fe SRR @R SRl
91. YEISRAIR SIeNsT a8 HiF STexdT e ?

(A) TEAT SR 33 (B) TT 3N Afhehl

(C) HI-3THRER ST AR (D) EIel-3THRERT AR SRR
91. VA= AR foha wergdl & = feord € 2

(A) T iR (B) I 3R ST

(C) 3T TfehT 3R TR (D) <faor iRt SR SThieh
92.  Which of the following is incorrect in regards of the ICC Men’s ODI Cricket World Cup ?

(A) India has won the Cup twice.

(B) Australia has won the maximum number of times.

(C) England won the Cup in the first tournament.

(D) Bangladesh has never won the Cup.
92. WM 7 ofTwz el fFs Tidn Mxle @R U sy 2

(A) ORCS 92 Fi9l TR TREATS IR

(B) SIEfeTIZ AH(HoR I TREATS TR

(C) AT FHACITS Y 2 Flol TS R |

(D) I GBI (FoTNE TS | 13 |
92. SN0 PR fSwE fFs Ruipist TifFe Tpa (i o2l areg 2

(A) ©R® LR G2 9 ferez|

(B) SICEfert W& A7 fecerz |

(C) e AR afecifen farerz)
(D) IRFACH FUTE TS I |

Paper-IVIE 51 P.T.O.



92. BETRR( ICC ODI fhahef I8 1T TrH= TerEmE g™ a9 fagfan a/ et ?

TRAT ShTIET {gcﬁ\ Qe[ Bl |

Z

-

STt o1 JAfgE Jifad @ <@e |

a

ffafas Zafa=ra Soil <@l |

~ o~ o~ o~

®|i(’1l§?|l Hisld 6l qielHl %TQT@ |

>

92, oTE.H.H. J¥W UH feadia Siawisiia fihehe fava & o we ¥ frefafed § § &H-91 7o § 2
9RA 7 3 IR HY S 2 |

ST 3 Forld SATeT 9IRS gifdae &

RS AT H gl 3 Y S o |

D) diree® 3wt %Y & S 7

Z

~_~ A~ o~ o~
N ™
~ O~

93. “The invigilator could not detect that the two boys were exchanging notes under his nose.” What
is the meaning of the marked portion ?

(A) With due permission (B) Right in front
(©) With active help (D) In small pieces of paper

94. From the Constitution of which country, the concept of residual powers in the Constitution of
India has been borrowed ?

(A) Belgium (B) Canada (C) France (D) Switzerland

94. TS FRYITS TIRB FAGIT LIKel] (T (IS 790 GIRT (20 2
(A) (@@l (B) @l Q) T (D) LIS

94. ORCST FRRYIE ST FoR 99N @ @R T[T (A 47 T AR 2
(A) (@@ (B) @l Q) T (D) eSS

94. ST NI AFCIeRd! YRA Tidfsierd Tl o Bel{ TSI %R a1l = Sie) 2
(A)  dafsEm (B) RIS (C) WM (D) HEIRUE

94, XA % WA § rafire uaisli i sTaeren fohd < & Giaum 9 of 7 2
(A) ifesEH (B) TSl (C) ™ (D) fETsReie

<
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95. Which of the following colours is NOT seen on the Olympic flag ?

(A) Green (B)  Yellow (C) Orange (D) Black
95. S 2[OIFILTS RS (PTG =9 (7l [ 2

(A) e (B) =& Q) it (D) &
95. SIhH (I [T ST “SIPI (rl T A 2

(A) & (B) =M (©) el (D) T
95. sfatien fRfthemme s e & ?

(A) i (B) TIHI TS (GEESIRIE] (D) e e
95. frefafad § @ wH-w1 11 Aeifues s § 8 fawd 8 2

(A) (B) dien (C) = (D) <hTell
96. Which two countries does the Gobi Desert touch ?

(A) Sudan and Egypt (B) Saudi Arabia and Iraq

(C) Turkmenistan and Uzbekistan (D) China and Mongolia
96. (I LI (I (oMl SR o Ffacg 2

(A) TOF Wi 3ferd (B) (R ST S 271

(C) TIATN Wi TETATBI (D) B =R sigeanfera
96. (ollfR SEFEfl (IR 9o oIt =l ST 2

(A) i @3 e (B) CT =T @R 2715

(C) I @I TeafFwe (D) bW @3 SeEiferal
96. T'dll STl BIHR S BIGL HIATTE S :

(A) HeH R fiee (B) wRfT & I 3k

(C) THAMEM R ITeifched™ (D) =9 I Haferan
96. el TEErE fohet < <M B WA 7 ?

(A) e IR o= (B) Wal 3T 3R T

(C) THAMEM iR Iseiferea (D) =i iR Haiferan
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97. Who or What is Doraemon ?

(A) A river in Brazil (B) A Hollywood actor

(©) A type of aircraft (D) A cartoon character
97. (OIS & Sl (P 2

(A) e G2 i (B) @INI! TRTTT STl

(C) R 9B == (D) <5 5 5E
97. (I (AN 2

(A) GRG0 (B) ZfeeT «3 wfeTel

(C) «F <A RN (D) @5 5 sfag
97. YA HN TSl A ?

(A) STt S (B) efagef wafefafif

(€ TEmE sU (D) WY HEA-3Tg
97. SNAMIH T AT T?

(A) SIS i Tk et (B) ek Blcilge Afar

(C) T YehR hl o (D) T A aRA
98. Which of the following countries is the farthest from Andaman and Nicobar Islands ?

(A) Myanmar (B) Indonesia (C) Vietnam (D) Malaysia
98. SN Wi f(FRT FIA7IGT 2/ (e (MiTa 7ag K 2

(A) SR (B) Zrwitafe (C) fewpam (D) e
98. TIHA (I (il SN ¢ IPRE G1715)g (A IGR TR 2

(A) TR (B) Erwicarl ©) T (D) SeTC
98. ¥ BRU MM N e IR fEThRHE i 2

(A) HHAR (B) 3= fE=n (C) fram (D) WA
98. frAfafEd § ¥ -7 < sfeA 3R FRER g1 ¥ § 998 W ?

(A) TER GIEEIRIEE] (C) Toraam™ (D) At
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99. If & = 2 then the value of 2722 i
. p 3 then the value of -~—— " is:
(A) 3 (B) 4 <@ 5 (D) o
a 4 6a + 2b
99. Ty = 5 (0T Yy gy, TS
(A) 3 (B) 4 © 5 (D) 6
a 4 6a + 2b
99. it L =S WOWE —— @ANE 2
(A) 3 (B) 4 ©) 5 (D) 6
a 4 6a + 2b
9. ey =3 T Gy
(A) 3 (B) 4 <@ 5 (D) 6
a 4 6a + 2b
99. A =2, W — €
(A) 3 (B) 4 <@ 5 (D) 6
100. Fill in the blank.
January was the month last year.
(A) Cold (B) Colder (C) Coldest (D) Cool
101. Three numbers A, B and C are such that the HCF of A and B is same as the HCF of B and C. If the

101.

101.

101.

101.

LCM of A and B is three times the LCM of B and C, then the ratio C: A is:
(A 1:9 (B) 3:1 < 9:1 (D) 1:3

TG 7124 A, B ®IF C TR SN2 TS A i< B T 511 B i< C I SR A0S A9 | I A <<% B
TS B IR C F oIS fof @ 27 (o8 C: A T3¢
(A) 1:9 (B) 3:1 C 9:1 (D) 1:3

o M40 A, B @32 C @59 (@ A 938 B @3 9071%, B @3k C &7 P71 37 | T A @32 B @3 #P11@ B €=}
C 93 o123 foTes 20 O Sie C: A (3 3
(A) 1:9 (B) 3:1 @ 9:1 (D) 1:3

A, B, C sHfSHmn oi@mafe S A 3T B 79 Temdn o1 B 9 C 79 Teman s gam1 9fs A 3B 4
UL A B AR C 1 g 304 1 esmermem, stea C R A 1 w5jemn
(A) 1:9 B) 3:1 Q) 9:1 (D) 1:3

o "Ed A, B 3R C T € foh A 31 B &1 He<H THIadeh, B 31X C ol HeqH THTeS & THF B Ife
A 3R B 1 oT[@9 GAME, B 3R C & oI[@H GHME HIdH TATE, O ST C: A © :
(A 1:9 (B) 3:1 < 9:1 (D) 1:3
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102. The value of /0.09 + /1.69 is:

(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
102. /0.09 + \/1.69 I ¥ ¢

(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
102. /0.09 + /1.69 9% W 2

(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
102. /0.09 + +/1.69 T AF:

(A) 1.78 (B) 1.6 (C) 133 (D) 1.5
102. J0.09 + /1.69 1 M :

(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5
103. Identify the pair which does not follow the common pattern.

(A) 6:OXYGEN (B) 5: ARGON (©) 7:CADMIUM (D) 8:BROMINE
103. TCIZS I BItP| SRpiRel 7Fat (ARG e 75 |

(A) 6:OXYGEN (B) 5: ARGON (©) 7:CADMIUM (D) 8:BROMINE
103. 3 (SIS ARl T (SA7GH) SepRel T3 T OIS bfers e |

(A) 6:OXYGEN (B) 5: ARGON (€©) 7:CADMIUM (D) 8:BROMINE
103. ST SR EARRENE T& e arter foet g’ ?

(A) 6:0XYGEN (B) 5: ARGON (C©) 7:CADMIUM (D) 8:BROMINE
103. S SIS ol T=H i Sl G T o e el el ¢ |

(A) 6:O0XYGEN (B) 5: ARGON (€) 7:CADMIUM (D) 8:BROMINE
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104.

104.

104.

104.

104.

A person purchases x number of items at the rate of X x per item. The shop-keeper gives him a total
discount of X x after which he pays I 156. The cost per item after the discount is :

(A) %13 (B) %12 (C) %16 (D) %14

GG M T x TS x FRAF AN GF FIRCH | ARG (0€F JJ T x AT ([ 2% F99 AZS (908
% 156 201y SR | ({2 2R 2igs AfSCE! AT FEEn (202 ¢

(A) %13 (B) %12 (C) %16 (D) %14

GG GG x 7L AT T x W@ G @ | WFE OICE (N6 T 1 WS (ST 217 (7 T 156 2AF0NY 6 |
QA +7 =folb AT e 2 ¢

(A) %13 (B) %12 (C) %16 (D) %14

Y AERE x ARG HASAd T x S8 S ol | REAE oA 519 % o T @ g 3Ae fodi 3156
T O | B G 36 A qaTi o8 oF ?

(A) %13 (B) %12 (C) %16 (D) %14

T Al T x Ufd 3TESH F X H 1 3M5eH TS 81 THAER 3 FA T x i 2 a1 ¢ S8 a8 98
% 156 1 A @ &1 B & 91G U TEeH Hi AN © -

(A) %13 (B) %12 (C) %16 (D) %14

105.

105.

105.

105.

105.

Which of the following is a stringed musical instrument of Assam ?

(A) Dogor (B) Xutuli (C) Kaaliya (D) Tokari

RIS (P! 20 SPTR IF Sl MG ?
(A) W (B) gl Q) iferanl (D) (GRSt

TIA (FIN SHCR G O MG ?

(A) R (B) 5fa Q) iferal (D) (BRI
TR SelaT AW Y IR ST 2
(A) TR (B) ®dfa (C) =hrfern (D) TR

frfafead § & o 91 31890 %1 T dRge S aresid € 2
(A) TR (B) &gl (C) hiferan (D) <rhrd
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106.

106.

106.

106.

106.

Which of the following is an example of Indirect Tax of India ?
(A) Gift Tax (B) Income Tax

(C) Goods and Services Tax (D) Capital Gains Tax

RIS (FING] OITOT 2@ T GF On 299 ?

(A) THRRFH (B) SIRRN

Q) T SR Rl 9 (D) FI TSR 9
TICoH (PG SRS AT T Snigaed 2

(A) TREFE (B) IR

(C) =€ CRIF (D) &&= &S 9

TR s YRl watferan @i fafeafey ?

(A) <H G (B) A WISl

(C) YA IR | @ISiAl (D)  gfoet HATRI TSIl

frefafed § @ Si9-91 YRd % 3THHY FT I ISR © ?
(A) SHR * (B) T

(C) %] Td Hal (D) USiiTTd o R
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107.

107.

107.

107.

Which of the following is incorrectly matched ?

(A) Class Ilever : Pliers (B) Class Il lever : Nail cutter

(C) Class III lever : Nutcracker (D) Class II lever : Bottle opener
e (@G Semelta @Rl e (e ¢

(A) =97 (=TT forew ¢ 2 (B) &Sl (uTi foTeid ¢ ¢ 61 Tor

Q) TOR (XN foTel] 2 AW ©el Tom (D) faor (¥T forem ¢ I5e AT (A T
A (PG Srwmelea etz 2

(A) e (@R forer ¢ fouifo (2R (B) faoR (= foreld ¢ 79 FHF 77

Q) TR IR feToR ¢ wife (A6 @E) (D) faor (@TR frel ¢ @ree (e 8
TIETAT S IR S AT ?

(A) grEn 1 fife : wme (B) @l II ffa : ST ern sy

(C) gl 111 f<fa : fagem e s Hrame (D) =@ 11 f3fiE : aoe wam

107. fr=fafead § & SH-91 Tea gafed 82

(A) A [ ter : g (B) o II oifeR : AeT sheX

(C) T III EfeR : TEohahl (D) &I II SfeR : Sl 39
108. The longest diagonal that can be found in a regular cube of side 1 cm is :

(A) 2cm (B) 2 cm (C) 3cm (D) /3 cm
108. 1 (5.1, AWE GF I T 2AK 2[]1 o F9 0] 2

(A) 2 @.f. (B) 2 G.f (C) 3 @A (D) 3 &AL
108. 1 @1.f. 1= RfFE (6 Fafire s g 34 2@ ¢

A) 2@N (B) 2 @Lf (C) 3 @fi (D) /3 @f
108. HHE 19.f8. ¥ Al T Tafen @' g

108.

(A) 29 (B) 2 9.f () s39f (D) 3 9.fa

19, o aret Frafea o9 o e S e Fed e foml ©
(A) 29 (B) 2 Q. (C) 39 (D) /3 9.

109.

Identify the proper noun in the following list.
(A) High mountain (B) Black car (C) Deep sea (D) Pacific Ocean

Paper-IVIE 59

P.T.O.



110.

110.

110.

110.

110.

A + B means A is to the North of B; A%B means A is to the East of B; A — B means A is to the West
of B; then in (Neptune % Saturn + Uranus — Jupiter) Uranus is in which direction with respect to
Neptune ?

(A) South - West  (B) North - East (C) North - West (D) South - East

I A+BI 9L A (B BT Ted were wiitg; A%B I =1L A, B3I 9@ WIitg; A—BI 9L A, BT sIf*63 Wi,
(T (2R % = + THEAE — JZI6) © Folpe ATATE TTEAZ GFH! e S7ge TR 2
(A)  WEFe-o{f*px (B) Tes-7) (C) Tea-sifepn (D) W=7

M A+B M A T B 93 TEE; A%B W A T B @7 27 W& A—B W A 281 B @3 A6, ©=ga
(9 % *W + TR —IZTI0) (O TEERAD FARER ACATE (I MCE SR(ZS 2
(A)  wiEFe-sif5a (B) T&-{ (C) Teg-oifeow (D) wfEFe-oF

e A+ BT aiforn - A =1 B 9 wmw@if; A%B a1 - A1 B WS A—BA1 - A B AFm@f, steen
(TG % IUT + I — TSI 3T TSI AGGA Sl ?

(A) We-dFetd (B) |- 9 (C) H1-FHEfy (D) @Il - g

A A+BHR IS TR A BFSRAR, AYBF A SfF A BF T AR A—-BH A4 B fF A, B afdem
HE @ (0= % 9 + 969 — ge9afd) § Fo=d & gy # gy fong fam § 772
(A) Tfu-ufem (B) SW-T (C) SW-ufead (D) <f&U-gd

111.

111.

111.

111.

111.

A tank can be filled by 6 pipes in 80 minutes. How long will it take to fill the tank by 8 pipes ?
(A) 45 min (B) 60 min (C) 48 min (D) 70 min

G5 (5 6 T 127 TRIAE 80 FfTS o T MifF | (GBI 8 et 1127 7RI oo Fftet fFww
MRS ACE 2T 2

(A) 45 95 (B) 60 ff (C) 48 i (D) 70 G

G0 /1T 6 16 1 7R SR FAco 80 G 37 #esl | 8 T 71 @il Gl ©HI6 F0e F© FA AN 2
(A) 45 G (B) 60 fIfD (C) 48 fIf G (D) 70 fIfG

g HEEI T 6 Aersit gam 80 fafte @ | 7 8 Aifasti o™ e arie ?
(A) 45 faf1e (B) 60 faf1e (C) 48 fafte (D) 70 fafte

Teh Sohl I 6 TEY1 g0 80 TA-e | W1 ST Eehal 1 8 UTSTl g1 Sohl bl WA H foha=n 9w &m ?
(A) 45 fae (B) 60 fe (C) 48 fae (D) 70 fAe
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112. Who played the title role in the 1969 version of Dr. Bezbaruah ?
(A) Nipon Goswami (B) Biju Phukan
(C) Dwipen Baruah (D) Brojen Baruah
112. ©° (@& (QETHRE 1969 FFINS (I w13 Giere ifomy e 2
(A) R o (B) gz
(C) BIol F=Al (D) & I
112. ©° ([GIFA 1969 FRFACE (F 2L SR AT SR 2
(A) == o= (B) RgF
(C) RItsw T (D) e I
112. 1969 TRAAM €. Iteedl G TEgAE MR fowafed IR e ?
(A) 7o T (B) fory perd
(C) fgu =r%en (D) SIS o%a
112. <l SS63T % 1969 G&R01 | i yftrert fordq fu 2
(A) T Tireert (B) fog Ferd
(©) 5l e (D) oS =T
113. Who of the following is NOT a Lawn Tennis player ?
(A) Leander Paes (B) Vijay Amritraj
(C) Mahesh Bhupathi (D) Pullela Gopichand
113. FW=fe @RS a9 (GNg (450 T2 2
(A) TTReR (o (B) e Sreie
(C) el golfe (D) el (anetiom
113. TIHF (PG &1 (B (ATARING 7 2
(A) Frer oo (B) o™ SryesIe
(C) e goifs (D) el Colfomim
113. TRMAE ™ G TSR 9R o a9 Terin T ?
(A) =R 99 (B) fos= smaS
(C) wew yrfa (D) geten e
113. frfafed & @ 9 @ g faare & 82
(A) fodet t9 (B) o smaus
(C) R yufd (D) eien TdrEg
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114. For which sport was T. Ao the captain of Indian team ?

(A) Badminton (B) Hockey (C) Football (D) Volleyball
114. T =8 @NRY (T SRS 7o} ST S 2

(A) @G (B) = (C) T5= (D) S&Re
114. 5. SNG @ (AT ST 1T WA NATF forete ?

(A) TG (B) == (C) T5e (D) Sfere
114. fo. 7aan 99 TEHAEAEE TRAM B SR T ?

(A) dsfa=d (B) Bl (C) Fead (D) 9 'feAea
114. fe 1= fF9 ©a & foaw v 39 & FaE 92

(A) Sefied (B) ®iehl (C) Tpedrd (D) afcftara
115. Identify the water reflection of the given figure.

(A) i\ (B) © i (D) i\
115. 2ve bas oo afowe B! Hiie 75 |

(A) i\ (B) © i (D) i\
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115.

oivre Bad e Aforete Fe B |

>
T

o

A S I 2 A B (D)
115. BFE FEmR <ete R famm |
i)
(A) ?jr (B) % ©) (D) 3
115. feu e fost & St ufdfsier sl gg=m |
i)
(A) ?j (B) % © (D) 3
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116. Which of the following is NOT an Assamese novel ?
(A) Adha Lekha Dostabez (B) Deu Langkhui
(C) Xekh Pristha (D) Ontorip

116. WS @G 9F ST T 98T 2

(A) ST TS (B) (M8 #RYT

(OEE&EEE) (D) @S9
116. TIHA G SPTTIHT SATT 77 2

(A) S (& ABIES (B) (T #RYT

(C) ol (D) sl
116. TREM FeAT AGHA T 11 AST ?

(A) e foran &I (B) <o WIGE

(C) &9 g= (D) sT=afg

116. fAfafed § & S-S/ ST & < 2
(A) 3T @ SIS (B) TSI
(C) 39 g (D) fady

117. The remainder when —46 is divided by 3 is :
(A) -2 B) -1 © 1

117. —46F 3 (3 9 IR 1Y S9! (Z0Z 2
(A -2 B -1 © 1

117. —46 (3 3 B ©l% FACE SAMS A ¢
(A) -2 (B) -1 Q) 1

117. —46 B 3 S e ATeAE TSR
A) -2 | -1 © 1

117. 59 —46 &1 3 ¥ faufsa feran S €, 91 99%a © -
@) -2 (B) -1 © 1
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118. Identify the correct mirror image of the figure.

—>

(A)

118. 2va foaq W& witollel AfeR=H! orre 7= |

—>

—>

(A)

118. 2ne fHrag woiterd 7l afelis smre T |

(B)

[

—>

—>

(A)

118. AFAREE REAE st 9eamiE! 999’ .

(B)

[

—>

—>

(A)
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118. 3Thfd sl TEI YU Bfe vg=H |

—

119. The product of the mean and the median of the data set1,0, —5,3,0, —2,4,6, —4,1, 2is:

5 7 6 9
A 15 B 13 © 1 ®) 1

119. G 1,0, —5,3,0, =2, 4,6, —4,1, 27 oG O NLGAF 270/ 2

A 15 B) 13 © 3 O 1

119. O AR A2 1,0, —5,3,0, =2, 4,6, —4, 1, 2 9 VT G NG BeIFe] 29 ¢

(A) 15 B 13 © 77 D) 73

119. @™ 1,0, —5,3,0, —2, 4, 6, —4, 1, 2 T oY 3T ASHIA ARSI ¢

(A) 715 B 33 © 77 D) 73

119. TA VS 1,0, —5,3,0, =2, 4,6, —4, 1, 2 F A& IR Wfearht T OFEA © :

6
(A) 715 B 33 © 7 D) 73
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120. Which of the following does saliva in our mouth help to breakdown ?

(A) Starch (B) Protein (€) Vitamins (D) Fat
120. SR J¥© 4 AL WRERS (FER Regoms AgR 9 2

(A) o (B) SPAR (C) 2wy (D) &
120. IR (FIA0LH TEC SR YOI A AP IR 2

(A) AR (B) celifoa Q) e (D) &
120. T S GMiaeTd gral faw@AmEE S 2 2

(A) wmEfe (B) wfed (C) fyarfm (D) ®SH
120. &R Y # @R ffafad § 9 foges fose § ueg &t 82

(A) wH (B) HIEH (OBRECIGE] (D) =&
121. If sinf =cos6 then the value of 1+tan# is :

(A) 1 B) 2 © 0 (D) 2
121. M sind = cosh, (OCT 1+ tanh I I 2

(A) 1 B) 2 © 0 D) ~2
121. W sinb=cosd T O 1 + tand < = 2

(A) 1 (B) 2 © 0 D) 2
121. SIS sinf = cos 3TecT 1+ tand 1 A

(A) 1 B) 2 © 0 (D) ~2
121. IS sind =cos0, W1+tand HAF T :

(A) 1 (B) 2 © 0 D) 2
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122.

122.

122.

122.

122.

A cone has a base radius of 4 cm and height of 9 cm. The volume of the cone is :

(A) 36w cm3 (B) 48w cmd (C) 13w cm3 (D) 247 cm3

€5 %39 ST PG 4 (6.1, W19 201 Tl 9 (5.1, | *FER ST (202 ¢

(A) 36w G.f3 (B) 48w v.f3 (C) 13w .3 (D) 247 5.f3

@35 =57 SR-pTd 4 ELAL @32 Tl 9 G | =55 simes == ¢

(A) 36w @3 (B) 48w M3 (C) 13w @3 (D) 247 GLR3

T Sergf eami 9 e 4 9.0, R Stargen 9 9.fA. | 9 S s a8 2
(A) 36w 9.fu3 (B) 48w Q.fal (C) 13w @.fu3 (D) 24w Q.fA3

Teh I o YR 1 B2 4 QA IR S=mg 9 ALl ®1 ¥y o1 3T ©
(A) 36w QA3 (B) 48w Q.HI.3 (C) 13w QA3 (D) 24w Q.HI3

123.

123.

123.

123.

123.

Which of the following countries does the Mediterrean Sea not touch ?

(A) Spain (B) Portugal (C) Lebanon (D) France

RIS @R (i SRl = T 2
(A) iz (B) faliet (C) Al (D) T

THa (@ (I SRR o Fea = 2

(A) 3 (B)  (ollgale Q) R (D) T
TSR STeTR Seliet o gIeqd eTST ?
(A) ¥ (B) gamdA (C) <amA (D) WM

R frfafad # & fora <9 1 T&@ 51 7 2
(A) & (B) e (C) A= (D) W
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124. Near which place, a statue of Jongal Balahu has been erected ?
(A) Raha (B) Dibrugarh (C©) Dhuburi (D) Karimganj

124. (SIGIE IS @AfSYfE (FI BT 191 Fioia F91 (2R ?
(A) == (B) ferw © = (D) <l

124. (SIGIE o728 S (I BT 6 Bloie 1 R ?
(A) == (B) feore (©) e (D) wfwaig

124. SETA 9 g TYEE! F11 HHAE SG) 2
A) & (B) fegrs (C) Yok (D) T

124. SITE 9Tg ot Hfd fohd T & Fere Tenfud =t 7€ 82
(A) @& B) fegm (ONCEN (D) TS

125. The three angles of a triangle are in the ratio of 1 : 3 : 5. The largest angle of the triangle is :
(A) 70° (B) 90° (C) 120° (D) 100°

125. «bl {qges fSfG (i [ 1: 3 : 5 SRoi1o® ©itz| (TgehN J2es (Fl i 2

(A) 70° (B) 90° (C) 120° (D) 100°

Iy

125. @30 [qgred foaib (@R SR 1:3: 51 fageivg Jzes @it 2o 8

(A) 70° (B) 90° (C) 120° (D) 100°

125. T @AM @ AHRM T9@1 1:3 15 | 6T @ AR

(A) 70° (B) 90° (C) 120° (D) 100°

125. T ST F A A0 1:3: 5% ATIA H B & | S 1 Gad S H0 R

(A) 70° (B) 90° (C) 120° (D) 100°
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Change the following (126 & 127) into passive voice.

126. Previous climbers had cut steps in the ice.

(A) Steps had been cut in the ice (B) Steps were cut in the ice

(C) Climbers cut steps in the ice (D) Steps cut in the ice by climbers
127. No one can do anything unless someone gives us more information.

(A) Nothing can be done without giving information.

(B) Nothing can be done unless we are given more information.

(C) Nothing can be done unless someone gives more information.

(D) Nothing can be done without information.
128. Which word from the following is similar to beckon ?

(A) light (B) Dbeg (C) motion (D) hear
129. Which of these words is closest in meaning to the word kin ?

(A) exult (B) twist (C) friend (D) relative

Read the following sentences (130 & 131) and try to choose the best definition for the italicized word by
searching for context clues in the sentence.

130. The new shipping and receiving building is an expansive facility, large enough to meet our growing
needs.
(A) obsolete (B) meagre (C) spacious (D) costly

131. Mr. Powers was so gullible that he believed even the most outlandish excuses of his insincere

employees.

(A) intelligent (B) naive (C) dishonest (D) critical
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Read the following passage and answer the questions (132-135) that follow :

Today, bicycles are elegantly simple machines that are common around the world. Many people ride
bicycles for recreation, whereas others use them as a means of transportation. The first bicycle, called a
draisienne, was invented in Germany in 1818 by Baron Karl de Drais de Sauerbrun. Because it was made
of wood, the draisienne wasn’t very durable nor did it have pedals. Riders moved it by pushing their feet

against the ground.

In 1839, Kirkpatrick Macmillan, a Scottish blacksmith, invented a much better bicycle. Macmillan’s
machine had tyres with iron rims to keep them from getting worn down. He also used foot-operated
cranks, similar to pedals, so his bicycle could be ridden at a quick pace. It didn’t look much like the
modern bicycle, though, because its back wheel was substantially larger than its front wheel. Although
Macmillan’s bicycles could be ridden easily, they were never produced in large numbers.

In 1861, Frenchman Pierre Michaux and his brother Ernest invented a bicycle with an improved
crank mechanism. They called their bicycle a vélocipede, but most people called it a “bone shaker”
because of the jarring effect of the wood and iron frame. Despite the unflattering nickname, the vélocipede
was a hit. After a few years, the Michaux family was making hundreds of the machines annually,

mostly for fun-seeking young people.

Ten years later, James Starley, an English inventor, made several innovations that revolutionized
bicycle design. He made the front wheel many times larger than the back wheel, put a gear on the
pedals to make the bicycle more efficient, and lightened the wheels by using wire spokes. Although this
bicycle was much lighter and less tiring to ride, it was still clumsy, extremely top-heavy, and ridden
mostly for entertainment.

It wasn’t until 1874 that the first truly modern bicycle appeared on the scene. Invented by another
Englishman, H.]. Lawson, the safety bicycle would look familiar to today’s cyclists. The safety bicycle
had equal-sized wheels, which made it much less prone to toppling over. Lawson also attached a chain
to the pedals to drive the rear wheel. By 1893, the safety bicycle had been further improved with air-
filled rubber tyres, a diamond-shaped frame, and easy braking. With the improvements provided by
Lawson, bicycles became extremely popular and useful for transportation. Today, they are built, used,
and enjoyed all over the world.

132. Read the following sentence from the fourth paragraph :
Ten years later, James Starley, an English inventor, made several innovations that revolutionized
bicycle design.
As it is used in the sentence, the underlined word revolutionized means :
(A) cancelled (B) changed drastically

(C) Dbecame outdated (D) exercised control over
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133. The first person to use a gear system on bicycles was :
(A) H.J. Lawson (B) Kirkpatrick Macmillan

(C) Pierre Michaux (D) James Starley

134. Which of the following statements from the passage represents the writer’s opinion ?
(A) The safety bicycle would look familiar to today’s cyclists.
(B) Two hundred years ago, bicycles didn’t even exist.
(C©) The Michaux brothers called their bicycle a vélocipéde.

(D) Macmillan’s machine had tyres with iron rims.

135. Macmillan added iron rims to the tyres of his bicycle to :
(A) add weight to the bicycle (B) make the tyres last longer

(C) make the ride less bumpy (D) make the ride less tiring

136. Choose the correct pair to fill up the blanks :

He put some on the hinge, so that it should not
(A) oil, squeak (B) water, spill (C) colour, stand (D) paper, seat
137. Everyone admired his courage.
(A) at (B) of (C) for (D) no word required

138. Find the analogy of the relation between the words from those given below on the basis of the
indicative uppercase word-pair preceding the choices.

SHELF : BOOKCASE

(A) arm:leg (B) stage:curtain (C) bench:chair (D) key: piano
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139. Read the following passage and answer the question that follows :

Light pollution is a growing problem worldwide. Like other forms of pollution, light pollution
degrades the quality of the environment. Where it was once possible to look up at the night sky
and see thousands of twinkling stars in the inky blackness, one now sees little more than the
yellow glare of urban sky-glow. When we lose the ability to connect visually with the vastness of
the universe by looking up at the night sky, we lose our connection with something profoundly

important to the human spirit, our sense of wonder.

The passage implies that the most serious damage done by light pollution is to our :

(A) art history (B) sense of paleness
(C) cultural advancement (D) questing spirit
140. This application was written a pen.
(A) by (B) with (C) off (D) nib

Read the passage and answer the questions (141-143) that follow :

Reality for human beings is not action or feeling but meaning. Humans are symbol using creatures; a
symbol is anything that carries a particular meaning recognised by the people who share culture. A
whistle, a wall of graffiti, a flashing red light, a fist raised in the air—all serve as symbols. We see the
human capacity to create and manipulate symbols in the various ways a simple wink of the eye can
convey interest, understanding, or insult. We are so dependent on our culture’s symbols that we take
them for granted. Often, however, we gain a heightened sense of the importance of a symbol when
someone uses it in an unconventional way. Entering an unfamiliar culture also reminds us of the power
of symbols; culture shock is nothing more than the inability to “read” meaning in one’s surroundings.
We feel lost, unsure of how to act, and sometimes frightened —a consequence of slipping outside the
symbolic web of culture. Culture shock is both what travellers experience and what they inflict on
others by acting in ways that may offend them.

141. In the context of the passage, which of the following does not serve as a symbol ?
(A) whistle (B) graffiti
(C) flashing red light (D) culture shock

142. How is reality defined as in the passage ?
(A) meaning (B) action

(C) feeling (D) web
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143. In the context of the topic of the passage, when do we feel lost, or frightened ?
(A) When we lose in a competition
(B) When we slip outside the symbolic web of culture
(C) When we cannot locate our action
(D) None of the above
144. Put the verb in brackets into the present perfect tense, and fill the space by repeating the auxiliary.
Where you (be)? —
I (be) to the dentist.
(A) have you had, I have been (B) have you gone, I have been
(©) have you been, I've been (D) went, I went
145. What would be the synonym for the word educe ?
(A) demand (B) elicit (C) ideal (D) unlawful
146. Choose the sentence that correctly communicates the meaning in the following sentence.

(A) Barua was usually able to catch the six thirty-five train from Guwahati
(B) Barua was usually able to catch a six thirty-five train from Guwahati
(C) Barua was usually able to catch on six thirty-five train from Guwahati

(D) Barua was usually able to latch the six thirty-five train from Guwahati
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Read the following passage and answer the questions (147-150) that follow :

The Okapi, a forest mammal of Central Africa, has presented zoologists with a number of difficult
questions since they first learned of its existence in 1900. The first was how to classify it. Because it was
horselike in dimension, and bore patches of striped hide similar to a zebra’s (a relative of the horse),
zoologists first classified it as a member of the horse family. But further studies showed that, despite
Okapis’ coloration and short necks, their closest relatives were giraffes. The Okapi’s rightful place within
the giraffe family is confirmed by its skin-covered horns (in males), two-lobed canine teeth, and long

prehensile tongue.

The vital question concerned the size of the Okapi population. Because Okapis were infrequently
captured by hunters, some zoologists believed that they were rare; however, others theorized that their
habits simply kept them out of sight. It was not until 1985, when zoologists started tracking Okapis by
affixing collars equipped with radio transmitters to briefly captured specimens, that reliable information
about Okapi numbers and habits began to be collected. It turns out that while Okapis are not as rare as
some zoologists suspected, their population is concentrated in an extremely limited chain of forestland

in north-eastern Central Africa, surrounded by savanna.

One reason for their seeming scarcity is that their coloration allows Okapis to camouflage themselves
even at close range. Another is that Okapis do not travel in groups or with other large forest mammals,
and neither frequent open riverbanks nor forage at the borders of clearings, choosing instead to keep to
the forest interior. This is because Okapis, unlike any other animal in the Central African forest, subsist
entirely on leaves: more than one hundred species of plants have been identified as part of their diet, and
about twenty of these are preferred. Okapis never eat one plant to the exclusion of others; even where
preferred foliage is abundant, Okapis will leave much of it uneaten, choosing to move on and sample
other leaves. Because of this, and because of the distribution of their food, Okapis engage in individual

rather than congregated foraging.

But other questions about Okapi behaviour arise. Why, for example, do they prefer to remain
within forested areas when many of their favourite plants are found in the open border between forest
and savanna ? One possibility is that this is a defence against predators; another is that the Okapi was
pushed into the forest by competition with other large, hoofed animals, such as the bushbuck and bongo,
that specialize on the forest edges and graze them more efficiently. Another question is why Okapis are
absent from other nearby forest regions that would seem hospitable to them. Zoologists theorize that
Okapis are relics of an era when forestland was scarce and that they continue to respect those borders

even though available forestland has long since expanded.
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147. Okapis stay within the forest interior. The passage relates this to the of the Okapi.
(A) scarcity (B) mind (C) culture (D) size

148. The word hide in the first paragraph means :
(A) smell (B) evade (C) skin (D) land

149. Zoologists assume that Okapis are relics and they respect the forestland borders. It means :
(A) Okapis are humanoid creatures
(B) They are culturally inclusive
(C) They communicate with other bordering creatures
(D) None of the above

150. The function of the third paragraph is to :

(A) pose a question about Okapi behaviour
(B) rebut a theory about Okapi behaviour
(C) counter the assertion that Okapis are rare

(D) explain why Okapis appeared to be rare

-00o0-

Paper-IVIE 76



SPACE FOR ROUGH WORK

Paper-IVIE 77 P.T.O.



SPACE FOR ROUGH WORK

Paper-IVIE 78



SPACE FOR ROUGH WORK

Paper-IVIE 79 P.T.O.



SPACE FOR ROUGH WORK

Paper-IVIE 80



